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Where 'Mahatma Gandhi Integrated Farming Research Institute’ is situated?

1. Motihari
Patna
Meerut

B

. Sabour

Options :

21052950201. 1
21052950202. 2
21052950203. 3
21052950204. 4

Question Number : 1 Question Id : 21052912731 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TETH] T4 Ubided Wl S8~ ™H Sl d 87

2. T
2. 5
4, FER

Options :

21052950201. 1
21052950202. 2
21052950203. 3
21052950204. 4

Question Number : 2 Question Id : 21052912732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: The physical condition related to the soil-structural changes which promote
good seed germination and crop establishment is called tilth.

Statement II: The capillary and non-capillary pores are not in equal proportion when soil is in
good tilth.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement || is correct

Options :

21052950205. 1
21052950206. 2
21052950207. 3
21052950208. 4

Question Number : 2 Question Id : 21052912732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T syTfRuIus:

B - | ; Hifd® ST S Jal G391 H URad= § Gl sl o forgH 3w die P Ud Bad
RIUH | Fgral [Hadl g ®f ®uU Had gl

BUT - 11 PIDT T pIART 4T BT GHH U el eidl & e Hal /=9 Py & el &
Suddd Byl & Haie § AyfaRad fadedl § 4 98l SR 9 ;

1. GH ®YT | T4 YT || Tl g |
2. GHf ®Y | Td &Y 1| 7T 8|
3. @Y | Gal & e &Y+ 11 7ad &
4 FYT | TTAd & S U 11 T8l Bl

Options :

21052950205. 1
21052950206. 2
21052950207. 3
21052950208. 4
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Question Number : 3 Question Id : 21052912733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
How much money is transferred annually to each farmer under PM-KISAN Scheme?

1. Rs. 12000
. Rs. 6000
3. Rs. 2000
Rs. 5000

Options :

21052950209. 1
21052950210. 2
21052950211. 3
21052950212. 4

Question Number : 3 Question Id : 21052912733 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
PM-KISAN TToHT & Sidiid Udis fbdF ol Il b1 oF fear ot 22

1. 12000 ¥UH
2. 6000 Y
3. 2000 399
4, 5000 354

Options :

21052950209. 1
21052950210. 2
21052950211. 3
21052950212. 4

Question Number : 4 Question Id : 21052912734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: india is the largest producer and consumer of pulses in the world,
Reason R: Pulses are grown in irrigated conditions and well fertile soils in India.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950213. 1
21052950214. 2
21052950215. 3
21052950216. 4

Question Number : 4 Question Id : 21052912734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T FFERTTTE : T & AHHYT (A) 3R T & TP (R) Pl T &
V@Y (A) : YR, GGl H T4 951 Gaed SMG® U4 SUHGAI © |

dd (R) : Golgd, HRd H e8] 3Uas, HJal ud fifad uiki@fadl § 3mg ondi & |
Iuddd Yl B 3Teiie H Fgifd fdoedl § U T8l IW g ;

(A) R (R) TIFT TET & 3R (R), (A) B ] 1T 2

(A) 3R (R) IFT H&l & U3 (R), (A) P! el oA Tl o
(A)

(A)

A) 98l & T (R) T8l 161 8|
A) HE1 781 8 U3 (R) 981 & |

Options :

21052950213. 1
21052950214. 2
21052950215. 3
21052950216. 4

1.
2.
3.
4,
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Question Number : S Question Id : 21052912735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Scil fertility is the inherent capacity of the soil to provide balanced nutrients to
the crop plants.

Reason R : A fertile soil is not necessarily to be a good productive because productivity
depends on may factor like adverse climate, waterlogging, soil reaction etc.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is the correct explanation of A
3. A is true but R is false
4. A is false but R is true

Options :

21052950217. 1
21052950218. 2
21052950219. 3
21052950220. 4

Question Number : 5 Question Id : 21052912735 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el Py U T : U & HfiHy (A) AR g & db (R) Bel T &

HYDHYT (A) : ol Iad], Jal &1 [IHTad &Hdl Bkl & ol B & Uidl @l Jdfeld 9 § Uis
dd e Bl B |

dd (R) : T &R gl & (b U 3d¥ Hal U 3] SdIGH ol Gbdl o iidh SdiGddl g DRI
R (R Bicl & O ufdod Saary, S WG, gel Hfifear sans |

IuLdd HYHT b el H Fgifhd [dhedl § U 98l S 9

1. (A) 3R (R) GHI T8I & 3R (R), (A) &1 el oare g
2. (A) 3R (R) G F&l & U (R), (A) DT el o1& Tal g
3. (A) HEl 8 IR (R) ¥l B &
4. (A) HEI 921 8 W (R) WE1 B
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Options :

21052950217. 1
21052950218. 2
21052950219. 3
21052950220. 4

Question Number : 6 Question Id : 21052912736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read the following statements

A. Food security means that all people at all times have access to safe and nutritious food to
maintain healthy and active life.

B. India is self-sufficient in food grain production.
C. Netsown area of India is about 152 million hectares.

D. Millet grains are highly nutritious food as they are good source of protein, minerals and

vitamins.
E. The major share of oilseeds and pulses production is come from irrigated areas.
Choose the correct answer from the options given below:

T.ABC
2ZBCD
3 CDE
4 AEBD

Options :

21052950221. 1
21052950222. 2
21052950223. 3
21052950224. 4

Question Number : 6 Question Id : 21052912736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page -7


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

5 99l 31 ug|

A. 1] YR&T ®1 Hacd sidl o i R U9 Fh1g foigiil & IEENd o G4 aill @1 83 959
YRI8d ud UiNd HioH @) Ugd o |

B. YRd WIElH & Jadie H AR T |

C. YRd P ol araiad gals gad GEbel T QuR e 83 E |

D. {16 TH T84 ¥ UiiP® Bid & Fife 375 38! 5 H UIeH, @He-aavl U6 e gid
gl

E. GaigA-TaeieHl &l Jedia- ol Wil HI fifd &t U 31l 8|

i feu 7E fadedl § 9 U1 STk &1 99 @ |

T.ABC
2ZBCD
3 CDE
4 ABD

Options :

21052950221. 1
21052950222. 2
21052950223. 3
21052950224. 4

Question Number : 7 Question Id : 21052912737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Weeds compete with crop plants for nutrients, moisture, light and space which
results in reduction in yield.

Statement II: Weeds act as alternate hosts to pests and pathogens in off season which infect
the crop later and cause severe damage.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :
21052950225. 1
21052950226. 2
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21052950227. 3
21052950228. 4

Question Number : 7 Question Id : 21052912737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J el Yy lgu e g

HUF - | ; TIUFAR BUq & UIe & T USS dcd, F5, HoIsl, U8 ¥yH & forg wfqgyf &3d 8
g URUTReEY IdGdHdl H§ &1 3H1dl & |

YT - 11 : WRUAAR, RIGRI ®Ig T4 I Jd! & 08 dH9H H Uo [gded & ¥4 H &1 Sl
%‘ﬁm—#wﬁwﬁﬂaﬂ:ﬁmﬂm%j

IUldd DYHI B Hclle § FEiRed fadmedl H 9 Ugl I 9 -

1. BYF | 3R 1 G TR B

2. YT | 3R || GF T 81
39U 19 8, [P BT I TRTa © |
4. PYT| HOA ¢, [b<g DY 1| TEl B

Options :

21052950225. 1
21052950226. 2
21052950227. 3
21052950228. 4

Question Number : 8 Question Id : 21052912738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I: Green manuring is a practice of ploughing or turning into the soil
undecomposed crop plants when they are at fully maturing stage.

Statement II: A leguminous crop producing 10-25 tonnes per hectare of green matter will
add about 60 to 90 kg nitrogen.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement || is correct

Options :

21052950229. 1
21052950230. 2
21052950231. 3
21052950232. 4

Question Number : 8 Question Id : 21052912738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T syTfRu U

HY - | : o1 TS BUg & U4 o 91 JUeUd GRS 3Gl H 51 99 Sd! Wd H SiaA1 a1
UTies @ U@ Ui d], 54 @ig el 8|

HUF - 1| : U Goie- BUd off 20 U R4 29 Uid saed g4 Uard Jaiiad ®dl &l dl §° ¥ o
faret T Argeia Hal H sie|

Jued Pyl & e H Rgiaied faesl § 9 98T R I -

1. By | 3R 11 &Ff T8 8

2. By | AR 11 GH1 e B

3. %Y 19 e, g sy 1 TTod © |
4. FYT| HOA ¢, fbg HY= 11 TS B

Options :

21052950229. 1
21052950230. 2
21052950231. 3
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21052950232. 4

Question Number : 9 Question Id : 21052912739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which micronutrient is most deficient in India soils?

1. lron

2. Zinc

3. Boron

4, Manganese

Options :

21052950233. 1
21052950234. 2
21052950235.3
21052950236. 4

Question Number : 9 Question Id : 21052912739 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YR gal o fbd Yaquine de & $4H) 9aiids o7

He

2, ST
3. 8RH
4 S

Options :

21052950233. 1
21052950234. 2
21052950235. 3
21052950236. 4

Question Number : 10 Question Id : 21052912740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which is the most critical stage for irrigation view of point in pulses?

1. Germination

2. Branching

3. Pre flowering and pod development
4, Dough

Options :

Page - 11
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21052950237. 1
21052950238. 2
21052950239. 3
21052950240. 4
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Question Number : 10 Question Id : 21052912740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el & TR & 2P i Sid! 3a® 99U Hifd® gidl o7

1. B0 & GOY
2. SIFET 9 999

3. Q83 Qd U4 HicH! a1d 999

4. 31 3fdw] & G99

Options :

21052950237. 1
21052950238. 2
21052950239. 3
21052950240. 4

Question Number : 11 Question Id : 21052912741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | List 11

Crop Nutrients requirement (NPK)
A, Maize l. 60-50-30 kg/ha

B. Soybean 1. 120-60-40 kg/ha

. Mustard l1l. 80-40-40 kg/ha

D. Pearlmillet IV, 25-60-50 kg/ha

Choose the correct answer from the options given below:

e =N, B - N C-MLD -1
Z-A-HB-NC-1,D-H
ZA-IB-UL,C-|,D-V
4 A-HI,B-U,C-NM,D-]|

Options :

21052950241. 1
21052950242. 2
21052950243. 3
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21052950244. 4

Question Number : 11 Question Id : 21052912741 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 B -1 @ ghd SR

T | It -1l

B 3RS NS dd (NPK)
A, DT . 50-50-30 T / &.
8. GraTEH 1. 120-60-40 fa9E / 7.
C. ol 111, 80-40-40 fHeE / B,
D. ST V. 25-60-50 TFaTH / B,

- feu e fagent & € 981 IR g

TeA=HB-NC-1LD-1
ZA-HB-NC-1,D-[H
ZA-IB-ULC-,D-V
4 A-ILB-U,C-IV,D-1|

Options :

21052950241. 1
21052950242. 2
21052950243.3
21052950244. 4

Question Number : 12 Question Id : 21052912742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List II
Nutrient Function
A. Nitrogen . It is an integral part of chlorophyll and imparts green colour to the plants.

B. Phosphorous|ll. Maintain osmotic and ionic regulation in plants.

C. Potassium  |lll. Energy transfer and protein metabolism.

D. Magnesium |IV. It is a structural component of ribosomes.

Choose the correct answer from the options given below:

TA-1L,B-NILC-1,D-IV
ZA-ILB-1L,C-IV,D-1l
JA-ILB-NM,C-1,D-1l
4AA-ILB-LC-IV,D-|
Options :

21052950245. 1
21052950246. 2

21052950247. 3
21052950248. 4

Question Number : 12 Question Id : 21052912742 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl -1 I Tal -1l Y GHfed Hifore ;

Il | gl -1l

U dd (Sl & sl

a7 %?ﬁﬁﬁwaﬁﬁwéﬁrﬁmﬁmwm
B. BIRERY ||l TR Ud AAi® 09 &1 91 T&@ 1 |

C. O™ (Il il Uoeul Ud WIdH 9a19=d |

D. HTHREH|lv. 8 REEH & UTe Ygd® Ued o

- feu e fawed! & ¥ 981 TR 9T

TA-LB-I,C=-1,D-V
Z-A-NLB-1L,C=-1IV,D-H
ZA-IB-NC-1D-1IH
4 A-ILB-ILC-IV,D-|

Options :
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21052950245. 1
21052950246. 2
21052950247. 3
21052950248. 4

Question Number : 13 Question Id : 21052912743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | List 11
Common Name Trade Name
A. Alachlor . Sofit

B. Paraquat Il. Algrip

C. Pretilachlor ll. Lasso

D. Metsulfuron IV. Gramoxone

Choose the correct answer from the options given below:

TA-1LB-ILC-1ll,D-INV
ZA-IW,B-ILC-1Il,D-1I
FA-MLB-NC-1LD -1
4 A-1LB-IV,C-I,D-1I

Options :

21052950249. 1
21052950250. 2
21052950251. 3
21052950252. 4

Question Number : 13 Question Id : 21052912743 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tl -1 I Tail -1l Y GHfed i ;

Il | T -1l
HIROT A4 EHIg® T
A, TATGAR . gifthe

B, GTeTE 1. SEg

C. UdieaRiR 11,

D. HegaHA v, AHIEN

= feu e fAwedl o ¥ 98 SR g

TA-LB-ILC-1IIILD -V
ZA-IW,B-IILC-1l,D-I
SA-LB-NVC-1LD -
4 A-1IILB-IV,C-|,D-1i

Options :

21052950249. 1
21052950250. 2
21052950251. 3
21052950252. 4

f GETITON )
| P Google Play |

Question Number : 14 Question Id : 21052912744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List 11

A, Kufri Jawahar |l. Kufri Red X Kufri Kundan

B. Kufri Bahar  |II. Kufri Jyoti X Kufri Alankar

C. Kufri Sindhuri [l1l. Kufri Neelmani X Kufri Jyoti

D. Kufri Badshah|lV. Kufri Red X Ginake

Choose the correct answer from the options given below:

TA-N,B-I,C-IV,D-1i
A= L B=N,C=], D=1l
3A-ILB-,C-I1V,D-1
4A-IV,B-1IILC-1ILD-1

Options :
21052950253. 1
21052950254. 2
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21052950255. 3
21052950256. 4

Question Number : 14 Question Id : 21052912744 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 B -1 @ ghd SR

T | It -1l

A. PHY FaTEY . PP IS X P Do

B. PRI §ER I, BB I X DB SRR
C. P gl 1. BT ATCHAT X DL ol
D. PP SIGINE V. DB 38 X oD

= Teu 7 fadedl H © Tl 3Tk 9T

TA-ILB-1,C-IV,D-1li
ZA-1LB-WV,C-I,D-1
3A-ILB-I,C-IV,D-1l
4 A-IV,B-1I,C-1I,LD-1

Options :

21052950253. 1
21052950254. 2
21052950255. 3
21052950256. 4

Question Number : 15 Question Id : 21052912745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11
A. Hisar Lalit l. Phompsis Blight resistant
B. Annamalai Il. Transgenic Variety

C. Florida Market|lll. Aphid Resistant

D. Flavr Savr V. Nematode resistant

Choose the correct answer from the options given below:

TA-WV,B-1,C-1,D-1I
ZA-ILB-IV,C-lIlLD-|
A-IV,B-I,LC-1,D-1l
4A-L,B-IV.C-1II,D-1

Options :

21052950257. 1
21052950258. 2
21052950259. 3
21052950260. 4

|

GETITON

® GooglePlay |

Question Number : 15 Question Id : 21052912745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 ol Tal -1l Y GHfed i ;

Il -1 Tl -1l

A. fedr afed . BEIY T afaiE
B. HAHAT II, sifa i<t e
C. TS Hifdhe 11, Uths wieRish

D. TiTaR Ha¥ . At H! nfcRiel

i feu e faeedl o © Tgi IR g

TA-IW,B-LC-IIl,D-1l
ZA- 1, B=0N, C- I, ¥=|
3A-W,B-LC-|,D-1
4 A-1,B-IV,C-1Il,D-1

Options :

21052950257. 1
21052950258. 2
21052950259. 3
21052950260. 4
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Question Number : 16 Question Id : 21052912746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Pusa Snowball K-1 is tolerant to black rot disease.
Statement II: Cole wart (Cliff cabbage) is common ancestor of all the cole crops.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement | is correct

Options :

21052950261. 1
21052950262. 2
21052950263. 3
21052950264. 4

Question Number : 16 Question Id : 21052912746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tagipyafeou e

®U - | THI HiGie K-1 BIell 9o 0T 4 Giew] g |

®HYF - 1| : Pledle (fFa M gHi TifHarfg didl &1 S d B |
Iuddd HYHl B 3eile o HeRigd faeedl § 9 ¥el 3T 94 ;

1, Y | AR 11 GFT TE |

2. ®Y | 3R || gl TTad &

30U 19, e »yF 11 TTOd & |
4T HOa e, g Y 1 TS B

Options :

21052950261. 1
21052950262. 2
21052950263. 3
21052950264. 4
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Question Number : 17 Question Id : 21052912747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which among the following is cause of blossom end rot in tomato?

1. Boron deficiency
2. Ca deficiency

3. High temperature
4. Zinc deficiency

Options :

21052950265. 1
21052950266. 2
21052950267. 3
21052950268. 4

Question Number : 17 Question Id : 21052912747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

79 5 9 2H1eR & wagH U8 e &1 HRY 1 87

1. R ®I BH
2, Picagq & DHI
3. HiY dgHEH
4, % Bl HHl

Options :

21052950265. 1
21052950266. 2
21052950267. 3
21052950268. 4

Question Number : 18 Question Id : 21052912748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Read following statements:

A. Grape Is deciduous crop.

B. In north India pruning time of grape vine is December- January.

C. In grapes winter pruning is known as foundation pruning.

D. Grapes do not ripe after harvesting.

E. Dogridge rootstock is better for acidic soils.

Choose the correct answer from the options given below having true statement:

1.A, Band D
22 A BandE
3.B.CandE
4 A BandC

Options :

21052950269. 1
21052950270. 2
21052950271. 3
21052950272. 4

Question Number : 18 Question Id : 21052912748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
afaiad ouHl of uiBe:

A, TR gl gier &

B. 3R YRd ¥ 3T Bi defs @cls &1 g9y feuer- oHad &
C. AR H Gl 31 dels ©els & BidsyH YT &ed 8

D. 3R GSTs & UHId ol Udd o

E. SIS Hd 9d 3iid Jal & fo7U waiel 9l &

i feu U fawedl & § el SyA! g faeed @1 949

1.ABTED
2.ABUJE
3.B,CUdE
4 A BTEC

Options :

21052950269. 1
21052950270. 2
21052950271. 3
21052950272. 4
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Question Number : 19 Question Id : 21052912749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match products given in list | with concentration of preservative for preservation given in List ||

List | List Il

A. Tomato sauce l. 350 ppm
B. Dehydrated vegetables |II. 2000 ppm

C. Tomato puree and paste|lll. 750 ppm
D. Fruit pulp IV. 250 ppm

Choose the correct answer from the options given below:

TA-U,B-1,C-IV,D-1li
ZA-1L,B-lLC-IN,D-Il
3A-NLB-L,C-1,D-1IV
4 A-1IILB-ILC-IV,D-]|

Options :

21052950273. 1
21052950274. 2
21052950275. 3
21052950276. 4

Question Number : 19 Question Id : 21052912749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gdil ¥ fGU 71U Saie @l fHes I 1| H &1 973 ulRem & foe afwe@ of 96 d Sy

T | Il -1l

A TR 1Y I. 350 UT.giE.
B. {5k Usaiidl I1. 2000 G.G1.TH.
C. eHIR G ud U 1. 750 didies.
D. %l ol 1[Gl V. 250 Gi.OiEs.
i feu e fgeedl o © Tl IR g

TA-NLB-LC-I,D-Il
ZA-1L,B-LC-IV, D=1l
3A-ILB-,C-Il, D~V
4 A-NMLB-I,C-IV,D-|

Options :
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21052950273. 1
21052950274. 2
21052950275. 3
21052950276. 4

Question Number : 20 Question Id : 21052912750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Read following statements:

A. Jam contains 68.5 per cent of soluble solids and boils at 222°F.

B. For packing of jam, it should be filled after cooling.

C. Excess acid is main cause of weeping jelly.

D. Thermometer test is only available technique to determine end point of jelly.
E. Pectin rich fruits are prerequisite for jelly making.

Choose the correct answer from the options given below having true statement:

T.A, Band D
2A CandE
3.B,CandE
4 A DandE

Options :

21052950277. 1
21052950278. 2
21052950279. 3
21052950280. 4

Question Number : 20 Question Id : 21052912750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Fafiied s ®f tlew

A. 99 H 68,5 Ufdwrd ga=iici 819 Ud 222°F dI9HH R 341Td ¢ |

B. WiH @1 Ufcha] o [oTU O 1 $81 5iH & dIg HRI WIdl &

C. 3 & Il it Sfcll &l G81 SR &

D. Siei H 3ifae fag uRem & fou ydiHies ufiam o@ 95 Suas de-i®] &
E. Siehl 9914 & foie Ufded gad Bd H19%9F o

i feu e fadedl & § gl Syl drd fdheg &1 994 l;

1.ABTWED
2ACUdE
3.B,CUdE
4 A DUGE

Options :

21052950277. 1
21052950278. 2
21052950279. 3
21052950280. 4

Question Number : 21 Question Id : 21052912751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read following statements:

A. Maximum number of plants can be accommodated in quincunx system of planting.

B. Square system is.most popular system of planting.

C. Contour system is popular in plains.

D. In hexagonal system, 15 percent more plants can be accommodated as compare to square
system of planting.

E. In diagonal system number of plants is less than square system.

Choose the correct answer from the options given below having true statement:

1.A, Band D
2 A BandE
3A CandD
4B, DandE

Options :

21052950281. 1
21052950282. 2
21052950283. 3
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21052950284. 4

Question Number : 21 Question Id : 21052912751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
afaied oAl ol et

A U1 TR & G==hig Wonel § Tand® Ui @y o 99d 6

B. U1Y T & IR Uorell Gad s aiafia &

C. THT=g WUl AeH! &5 § dih g ©

D. &g HUTTe! H aiidhR Womel &1 qo-l | 15 Widrd Uig 31f¥d o of 9@d &
E. STRYHd el # STfdR YUITe! & go-l H &4 Uit gid &

= fau e faweul § © Uel ®yA| ad fadcd &1 999 ol

1.ABTED
2.ABUJE
3.ACEGD
4B DUdE

Options :

21052950281. 1
21052950282. 2
21052950283. 3
21052950284. 4

Question Number : 22 Question Id : 21052912752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statemenis
Statement I: Heading back and thinning out are types of training.
Statement II: Dehorning is a type of pruning.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :
21052950285. 1
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21052950286. 2
21052950287. 3
21052950288. 4

Question Number : 22 Question Id : 21052912752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T HY RE T :

HUF - | : 8T8 9 ud FUfT 3nge o F PR B

FUF - | : SIBI-T, Pel; el P B ISR o

IULed HYHl B 3ol H Fgfeiad fadedl o 9 9l 3w’ 9

1. YT | 3R 11 SF T8l B

2. T | AR 11 &A1 e B

3. PY I g B, fo YA 11 7Td & |
4Ty ¥ T0 e, g I 1T B

Options :

21052950285. 1
21052950286. 2
21052950287. 3
21052950288. 4

Question Number : 23 Question Id : 21052912753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statementis
Statement I: Gladiclus can be propagated through seed.
Statement II: Multiplication of gladiolus through cormels is slowest method.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement || is correct

Options :
21052950289. 1
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21052950290. 2
21052950291. 3
21052950292. 4

Question Number : 23 Question Id : 21052912753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Taa sy fRemu®

FYF - | TSTITH BT USRI 91 g &l Shdl 8

YT - || : Tiegad § ®RAT gRT TR Tad i & g
Iudad HYH! & Hale § Fgfafad fdeel 3§ 9 98 S T -

1. BYT | 3R 11 G HET o

2. BYF | 3R 11 AT T B

3.9 | 9d 8, [P oy 1 Tad B |
4 @Y | T g, fog @y 11 98T B

Options :

21052950289. 1
21052950290. 2
21052950291. 3
21052950292. 4

Question Number : 24 Question Id : 21052912754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sand garden and Tea garden are types of which among the following style of garden?

1. English garden
2. Japanese garden
3. Mughal garden
4. French garden

Options :

21052950293. 1
21052950294. 2
21052950295. 3
21052950296. 4

Question Number : 24 Question Id : 21052912754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
T meSAvd e e, Falofad f 4 ey Il S ST & UdR & 7
1. ST &

2, SITgHT g

3. HiIel 9@l
4, 169 917

Options :

21052950293. 1
21052950294. 2
21052950295. 3
21052950296. 4

Question Number : 25 Question Id : 21052912755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | IList 11

A. Tuber |l Sweet Potato

B.Runners |Il. Turmeric

C. Rhizomel|lll. Strawberry
D.Bulb  |IV. Garlic

Choose the correct answer from the options given below:

TA=1, B =l C- L Ll
ZA-1,B-lll C-INVE=N
JA-NULB-ILC-1,D-N
4 A-1LB-ILC-IV,D-1

Options :

21052950297. 1
21052950298. 2
21052950299. 3
21052950300. 4

Question Number : 25 Question Id : 21052912755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A RS BIGE T
5. T4 1, Beal
SEIETIL] IE=ER]
D. ¢ V. T8
i feu 70 faseedl # ¥ WE! IR 9T :

TA=1L,B =L G-I, D=1V
ZA-1,B-1LC-N,D-1l
3A-NLB-ILC-1,D-IV
4 A-1IILB-ILC-IV,D-]|

Options :

21052950297. 1
21052950298. 2
21052950299. 3
21052950300. 4

Question Number : 26 Question Id : 21052912756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What do you mean by white revolution?

1. Sharp rise in buffalo population
2. Sharp increase in milk production
3. Sharp rise in cattle population

4. Sharp increase in egg production

Options :

21052950301. 1
21052950302. 2
21052950303. 3
21052950304. 4

Question Number : 26 Question Id : 21052912756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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b Hifd H HYHT T AT 57

1. HE &I g@= 4 g sgiodl
2. %% 3G H did Seladl

3. HAR &1 T H dig gelail
4, {Ug] 3dieA H did 9eliadl
Options :
21052950301. 1
21052950302. 2

21052950303. 3
21052950304. 4

Question Number : 27 Question Id : 21052912757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Feeding grains to pregnant heifers prior calving at 1.5 kg/ day helps in their
growth, bear the stress of foetus.

Statement II: Pregnant heifers should be housed along with milking cows at least two months
prior to calving.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement | is correct

Options :

21052950305. 1
21052950306. 2
21052950307 3
21052950308. 4

Question Number : 27 Question Id : 21052912757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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EiE EA K E R TR

HYH - | TG afT] @ gl o- § 44 3.4 fharam uld 69 & feue ¥ oF [eoq 9 3!
§GdN Ud YUl & q-1d @l 95 H 766 Hadi & |

HY - || : TG a0 B 91 61 & &9 9 ®H 3 H1E 03 g4 & ardl T4l & 9y ag |
TSy @] 98T |

Iuddd Byl & e H FRufiRad fadwel 3 9 98l I 94

1. DY | 3R 11 SH T8 B

2. YT | 3R 1| BF TAd 81

3. PY 1 9 B, foo YA 11 TTEd & |
4 YT Hgd ¢, fogdyd 11 T8l Bl

Options :

21052950305. 1
21052950306. 2
21052950307. 3
21052950308. 4

Question Number : 28 Question Id : 21052912758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Milk fever is a metabolic disease in cows soon after calving.

Reason R: Serum calcium levels fall in cows after calving as a result of failure to mobilize
calcium reserves.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :
21052950309. 1
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21052950310. 2
21052950311. 3
21052950312. 4

Question Number : 28 Question Id : 21052912758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Faa Py UM E: U of Ty (A) IR TR F TP (R) el T &

HYDHYT (A) : G TR TS UGG dHR g A T H el o D qed dIG H 8l & |

dd (R) : T & &1 G & qUa 916 R Hicdgd &1 wR R @ldl & U8 HeRd sicagq &
A AsH $ldus Y8l g |

IUdd Byl & il H Fgifed [deeal § € 98l I I -

1. (A) 3R (R) THT TEI & 3R (R), () BT T8I SOrET &
2, (A) 3R (R) ST T & U (R). (A) B TEI o g1 o
3. (A) el § O (R) Tel el |

4, (A) TeI 7gl & U3q (R) el 5

Options :

21052950309. 1

21052950310. 2

21052950311. 3
21052950312. 4

Question Number : 29 Question Id : 21052912759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Read the following statements

A. Artificial insemination increases semen use efficiency.

B. Artificial insemination increases potential of genetic selection.

C. Fertility in dairy cattle increases with increase in artificial insemination.

D. In artificial insemination, outstanding animals can be mated from distance locations.

E. Artificial insemination increases genetic diversity in cattle.

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A B and D only

Options :

21052950313. 1
21052950314. 2
21052950315. 3
21052950316. 4

Question Number : 29 Question Id : 21052912759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frafrad ouHl o iew:

A. BEFF iU 91 BT TGN &l B el © |

B. g U STIERE 909 & 99 S sedi o

C. Y% HRl H Yo &Har dfad THiYH & 9¢4 & 9 §edl & |

D. D T H gI-a31el & Iah P U3 &1 GBI il o 9hdl 6 |
E. iy TyiuE O 9afmt § siqdfiie fafayar 9edi 81

- fen 7 fasedl & O U8 HyH( i [dheg @1 984 B

1.%ad A B3IHRC
2. ®dd B, C AR D
3.%dd C, DARE
4.%ad A BARD

Options :
21052950313. 1
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21052950314. 2
21052950315. 3
21052950316. 4

Question Number : 30 Question Id : 21052912760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match list | (cattle breed) with List || (home tract)

List | List 11
A. Dangi |l. Madhya Pradesh

B. Nimari |Il. Rajasthan

C. Ponwarllll. Gujarat
D. Rathi |IV. Uttar Pradesh

Choose the correct answer from the options given below:

TA-N,B-I,C-IV,D-1i
ZA-1L,B-I,C-|,D-1i
3A-ILB-,C-1V,D-1l
4 A-IV,B-IILC-1ILD-1

Options :

21052950317. 1
21052950318. 2
21052950319. 3
21052950320. 4

Question Number : 30 Question Id : 21052912760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tl -1 ({a=i 7%) B gl -1l (T8 &) 4 GHiTd Hifoe :

Il | Tl -1l

A ST | e Yed
B. fHaTSt 11, TR
C. OiaR 111, TR
D. 31 V. 3R UG
i feu e fgeedl o © Tel IR g

T8= I, B=1,C -1V, D=1l
A= NLB=N, C=1, D1l
ZA-ILB-L,C-V,D- 1l
4AA-IV,B-1ILC-1ILD-1

Options :

21052950317. 1
21052950318. 2
21052950319. 3
21052950320. 4

Question Number : 31 Question Id : 21052912761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: In poultry, vas deferens is the tubes pursuing a wavy course from testes to the
cloaca.

Statement II: In poultry, isthmus is part of male reproductive system.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct

Options :

21052950321. 1
21052950322. 2
21052950323. 3
21052950324. 4
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Question Number : 31 Question Id : 21052912761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CIEEAK TR S
U - | pope 7Y SET R 6 2 ) 3 3 51 2R 3 9t ao o o 2|

HY - || : HaDe H TY R o o3 1 YF 2idl &
SUdad BUHT & Haie § FEfied fase 4 4 98 S T

1. HYF | AR 11 gHf T8l B

BT | AR NI G T B

BYT 1T E, e By 11 T § |
BYT | H TG ¢, firg BYH 11 T8 B

Options :

21052950321. 1
21052950322. 2
21052950323. 3
21052950324. 4

O MO

Question Number : 32 Question Id : 21052912762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Artificial insemination was first accomplished in which country?
]

1. Britain

2. USA

3. Denmark
4, Russia

Options :

21052950325. 1
21052950326. 2
21052950327. 3
21052950328. 4

Question Number : 32 Question Id : 21052912762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

21052950325. 1
21052950326. 2
21052950327. 3
21052950328. 4

Question Number : 33 Question Id : 21052912763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Read following statements:

A. In cows, per animal covered area of 80-100 square feet is required.

B. Open area requirement for young stock in cattle is 50-60 square feet.

C. Per animal manger length requirement for pregnant cow is 15-20 inches.

D. Cattle shed should be surrounded by a boundary wall of 5 feet height in three sides.
E. Loose housing system is most economical systems for cattle.

Choose the correct answer from the options given below having true statement:

1.B,Cand D
2 A BandE
3.B.DandE
4 A Band C

Options :

21052950329. 1
21052950330. 2
21052950331. 3
21052950332. 4

Question Number : 33 Question Id : 21052912763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Fafiied sl @ tlew:

A. TG F Ui 9FaR 20-100 &7 B SEGR &3 ®1 AEGHdl eidl o

B. 7110 O 951 o [0 Ufd SR 50-60 &7 I Gdl &5 B HGgomdl sial &
C. T g & oY Ufd 91963 HoR & ol 15-20 59 &1 a39®dl gidl &
D. T & 7E & oY f99 TR T 5 B B €aR g1 9y

E. 7114 UTeH &1 Well UUTel! 9ad &4 a1 drell Wl &

1 feu ¢ faeedl © 9§ el SyAl alc fdded & 99+ &

1.B,C3RD
2. A B3IRE
3.B,D3ARE
4 A B3RC

Options :

21052950329. 1
21052950330. 2
21052950331. 3
21052950332. 4

Question Number : 34 Question Id : 21052912764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Ghee is pure butter-fat abtained by melting butter and evaporating the surplus

moisture,
Statement II: The acidity of ghee is always zero.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement || is correct

Options :

21052950333. 1
21052950334. 2
21052950335. 3
21052950336. 4
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Question Number : 34 Question Id : 21052912764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fad ey REmE:
®YUA - | : Tl Hag B [Uued AR SHYRY FH Bl 9Nt HId Ui g Heg--a9 o

HUT - 1| ¥ T ST BHY T BT B
STa HYH B SaiE § FEfied el 3 § T8 SR -

1. BYT | 3R 11 G HET o

2. BYF | 3R 11 G 7o B

3.9 | 908, [P Py 1 Tad B |
4 HYT | HOd g, fooq By 11 T&T B

Options :

21052950333. 1
21052950334. 2
21052950335. 3
21052950336. 4

Question Number : 35 Question Id : 21052912765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following wound does not heal?

1. Maggot wound

2. Ulcer

3. Infected wound

4, Contaminated wound

Options :

21052950337. 1
21052950338. 2
21052950339. 3
21052950340. 4

Question Number : 35 Question Id : 21052912765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. GiieH
2, HEER
3, HpfHd UG
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Options :

21052950337. 1
21052950338. 2
21052950339. 3
21052950340. 4

Question Number : 36 Question Id : 21052912766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following statements:

A. Tharparkar cattle are native to South-West Sindh.

B. Tharparkar is good for bullocks but milk production of cow is less,

C. The Tharparkars are medium sized compact animals, with clean limbs and good feet.
D. The hump of Tharparkar is narrow and the dewlap and sheath are larger in size.
Choose the correct answer from the gptions given below

1. A and C only
2. B and C only
3. Cand D only
4. A and D only

Options :

21052950341. 1
21052950342. 2
21052950343. 3
21052950344. 4

Question Number : 36 Question Id : 21052912766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
FafiiEd $yH W e B
A- YRUR®R 9320t Gfémr-ufdm fiy & ga Fardt 8 |

B- YRUR®DR sdil o [eid 8] ¢ i 19 ] g 3l dH 6 |

C- YRURSR HAT H[DR & DIHde SR ¢, ot Wed T AR IS R E |
D- YRURER BT DHES Y10l & R HHY 3R UH HPRH TS ¢ |
e feu 70 faeeedl & 4§ el o) 9

1. Bad A AR C
2. HaAAB AR C
3. HAACIARD
4, HITA AR D

Options :

21052950341. 1
21052950342. 2
21052950343. 3
21052950344. 4

Question Number : 37 Question Id : 21052912767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List Il

(Type of Cheese) (Protein in %)
A. Cottage Cheese .13-16

B. Cream Cheese 1. 29.0

C. Swiss Cheese . 21.7

D. Roquefort Cheese V. 23.2

Choose the correct answer from the options given below:

T.A-I,B-LC-1I,LD-IV
ZA-IV, B-LC-1l,D-1lI
JA-IV,B-ILC-1,D-1I
4AA-NLB-,C-LD-IV

Options :

21052950345. 1
21052950346. 2
21052950347. 3
21052950348. 4

Question Number : 37 Question Id : 21052912767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tl -1 I al -1l Y GHfeTd Hifore ;

Il | I -1l
(TR &1 ThR) (% H Ui
A, Biee GAR l. 13-16
B. ®IH THIX II. 29.0
c. ag AR . 217
D. b HIe TR V. 23.2

Ty e F9 R SR I

TA-1l, B-1,C-1ll, D-1V
2. A-1V, B-1, C-1I, D-1lI
3A-IVB-IILC-1,D-

AA-NLEB-L,C-ILD-IV

Options :

21052950345. 1
21052950346. 2
21052950347. 3
21052950348. 4

Question Number : 38 Question Id : 21052912768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Transfer of groups within a molecule is a reaction catalyzed by enzymes
transferases.

Statement II: Transfer of functional groups is a reaction catalyzed by enzymes isomerases.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement || is correct

Options :
21052950349. 1
21052950350. 2
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21052950351. 3
21052950352. 4

Question Number : 38 Question Id : 21052912768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CIEEAGE AT

BT - | ; TP I & IR GHE! B WHIR TSSH! & R gRT 3ol ufafar 21

DY - 1| : DD GHe! BT RHRU Togd ATSAEREY gR1 Iaikd HiaiHar gl
SUddd HYHl B HTclld H [HEiiiRgd fadmedl # ¥ ¥l 9w 9

1. ®YF | AR 11 GHf T8l &

 HYF | R 1 SF A B

3. DY | T8, [ DY 11 TTed & |
4, YT | HTT ¢, o DY 11 T B

Options :

21052950349. 1
21052950350. 2
21052950351. 3
21052950352. 4

[

Question Number : 39 Question Id : 21052912769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 44


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook P> Google Play |

Match List | with List 11

List | List 11
4. Vitamin B5|l. Folate
B. Vitamin B9 (ll. Pentothenic acid

C. Vitamin B1|lll. Thiamine
0. Vitamin B2|IV. Riboflavin

Choose the correct answer from the options given below:

TA-W,B-1,C-1I,D-I
ZA-ILB-LC-Ill,D-IV
ZA-1LB-1LC-1l,D-IV
4A-NLEB-IV,C-ILD-|

Options :

21052950353. 1
21052950354. 2
21052950355.3
21052950356. 4

Question Number : 39 Question Id : 21052912769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gl -1 Bl il -1l H G &I :

il | Tl -1i

A faefa 4l s |, Bl
B.faafimdio 1. Yerf® uhrs
c. faerfaa &t 1 |1l YT

D. fgeiffa &1 2 v, TEEaRIa
A feu mu famedl & ¥ get IR g

TA-IWV,B-NL,C-1l,D-1
2ZA-ILB-LC-1I,D- IV
3. A-1, B-1ll, C-1ll,D-1IV
4 A-IILB-IV,C-1I,D -1

Options :
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21052950353. 1
21052950354. 2
21052950355. 3
21052950356. 4

Question Number : 40 Question Id : 21052912770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Constitutive enzyme is an enzyme which is produced at a constant rate whether
it is needed by the organism or not.

Statement II: Inducible enzyme is an enzyme which is synthesized only when a specific
inducer is present.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

21052950357. 1
21052950358. 2
21052950359. 3
21052950360. 4

Question Number : 40 Question Id : 21052912770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Bt kA IR TRl

FYA - | ; Bifkciged UolsH Ul U U3 & ol FiaX &3 U3 3134 &Il & gl 98 wig gl
HERaH Bl AT T

1 SeUfeT USTSH U UHT USISH oIl & o $ad U Ay SSUER e 81 W
REGIGRAGIE

SHdd DY & HTcilds § FEiciRad fadedl 3 3 Wel 3w O ;

1. DY | 3R 1| TE T8 B
@Y | 3R 11 GHE T g
3.3 | 90 e, Py 1 Tad B |
4, DY | HTI T, o DY 1| T B

Options :

21052950357. 1
21052950358. 2
21052950359. 3
21052950360. 4

[

Question Number : 41 Question Id : 21052912771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The main characteristics of SARS coronavirus are-

1. Non-segmented negative-sense ssRNA enveloped capsid

2. Non-segmented positive-sense ssRNA enveloped capsid

3. Non-segmented linear dsDNA nonenveloped capsid

4. Non-segmented linear dsDNA enveloped icosahedral capsid

Options :

21052950361. 1
21052950362. 2
21052950363. 3
21052950364. 4

Question Number : 41 Question Id : 21052912771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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I SRATGRRY 47 T A& &-

1. TR-GI&d TBRIEHD-HIGHT ssRNA BTU gU B s

2. IR-Ef&a uiioifiea-T9 ssRNA [THTHT Bitds

3. TR-WiEd AP dsDNA BT Bitrs

4, TR S IS dsDNA B s Shiesd hitis

Options :

21052950361. 1
21052950362. 2
21052950363. 3
21052950364. 4

Question Number : 42 Question Id : 21052912772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | List II
A. Complementary gene action | 3134
B. Supplementary gene action IL9:6:1

C. Dominance modification of duplicate genes|ilil. 9:7

D. Polymeric gene action V.11 25

Choose the correct answer from the options given below:

TA-NL,B-I,C-N;D-Ii
ZA-1,B-ll,C-ll, D=1
3A-L,B-1LC-,D-1V

4 A-IV,B-IIlLC-1,D-1

Options :

21052950365. 1
21052950366. 2
21052950367. 3
21052950368. 4

Question Number : 42 Question Id : 21052912772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Tl -1 I al -1l Y GHfeTd Hifore ;
Il | Ol -1

A BIRGH o fedT .9:3:4
B. GwiHd o9 e 1.9:6: 1
C. gitdre SfiFl &1 i« gxI1eH 1.9:7

D. GIieHR S ®Ras V. 11:5
e fgu T famedl o ¥ ggt IR g

T.A-IILE-LC-IV,D-1l
2A-L,B-WL,C-1,D-V
S3A-LB-ILC-1,D- 1V
4 A-IV,B-IILLC-1l,D-1

Options :

21052950365. 1
21052950366. 2
21052950367. 3
21052950368. 4

Question Number : 43 Question Id : 21052912773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider following statements:

A- Fructose and lactose are disaccharides.

B- Ribose and galactose are monosaccharides.

C- Cellulose and starch are polysaccharides.

D- Glucose and glycogen are monosaccharides.
Choose correct answer from the options given below

1. A, Band D only
2. B, Cand D only
3. Cand D only
4. Band C only

Options :
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21052950371. 3
21052950372. 4
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Question Number : 43 Question Id : 21052912773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fofafag $ual | fER &

A-Tpaeie 3R Taciol SEaPES 6 |

B- YZa R dgers AFHaREs ol
C-Uegais 3R ¥ Gleiidiss el

D- T® o AR Ted@ e AH0es 8

9 fg e et & 9 O SR

1. HIAA, B AN D
2. Haa B, C AR D
2. HAAC IR D
4, HIAB AR C

Options :

21052950369. 1
21052950370. 2
21052950371. 3
21052950372. 4

Question Number : 44 Question Id : 21052912774 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Streptomyces coelicolor is an example of curved rod shaped prokaryotes.
Statement II: Stella humosa is an example of curved star shaped prokaryotes.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950373. 1
21052950374. 2
21052950375. 3
21052950376. 4

Question Number : 44 Question Id : 21052912774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EIE AR

BU - | : EPIHIRT Bicioic GHIGER U & PR o Uibidied $] U Jaev ¢

DY - 1| ; o FLIG GHIGER ¥R $ HBR D HibRAcy H Uh 3cevl |
SUddd HYH! & fcild H MEiRad fadbedl 3 § Hel 9ok 99 ;

1. DY | R I G 98l 6|

2. YT | R I BE TEAd B

3. %Y1 9 B, fog YA 11 TTEd & |
4 DY HOd e, fbg oy 11 98! Bl

Options :

21052950373. 1
21052950374. 2
21052950375. 3
21052950376. 4

Question Number : 45 Question Id : 21052912775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Chromosome appears to be longitudinally divided into two identical pats each of
which is known as cromatid.

Reason R: Chromatid is the structural and functional unit of chromosomes.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950377. 1
21052950378. 2
21052950379. 3
21052950380. 4

Question Number : 45 Question Id : 21052912775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IS Sy RE U E : U &l DY (A) AR GE I db (R) Dl I & |

S o S sl e 5w o E e S e 3 S § ud
Hiafcs & ©Y d S oidl &

ad (R) : HIACS DM @ IS iR PAED 3005 &
Iudd DYl & e § Fgifdd [decdl § U 98 St 9

(A) R (R) SIFT GET & 3R (R), (A) B U] o 2

(A) 3R (R) T H&l & U3 (R), (A) P! el oA el &
(A)

(A)

A) H8l & I (R) T8l 181 8|
A) HE1 781 8 U3 (R) 981 5|
Options :

21052950377. 1
21052950378. 2

1.
2.
3.
4,
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21052950379. 3
21052950380. 4

Question Number : 46 Question Id : 21052912776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: During translation process, the initiator tRNA is used only for translation
initiation.

Reason R: The role of tRNA during translation is to bring N-formylmethionine to the initiation
codon in prokaryotes and eukaryotic organelles and methionine in case of eukaryotes.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950381. 1
21052950382. 2
21052950383. 3
21052950384. 4

Question Number : 46 Question Id : 21052912776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TSI HY RE U E . Uoh ol HHHYH (A) AR GI I db (R) Dl I & |
HIV@YH (A) : HaTG Uil & GRIF, Goid (RNA DT 3UAN] Bhad HaIG Glal o o7d faedl STl

3l

9 (R) : 316 & G tRNA B YHET UidpRaley 3k ghiafes siif+a ok afigHa =
qoh e & giFd J tH-BHiscaisi=a & dla oisd § - @ g

Iuddd B! & HTcld J Fifhd f[ddbedl 8 Tel Sl 94 ;
1.g;)aﬁ?(ﬁjfﬁéfiﬁﬁT%‘&ﬁifﬁjrpﬁjﬂﬂ"ﬂEﬁEIHEﬂT%H

2. (A) 37 (R) GIFT |8l 8 U= (R), (A) DI Yol o1 el 5l

3. (A) W8l & U (R) Wl el &

4, (A) HET R € U3 (R) HET B

Options :

21052950381, 1

21052950382. 2

21052950383. 3
21052950384. 4

Question Number : 47 Question Id : 21052912777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider following statements:

A- Mitochondria do not result from endosymbionts.

B- The cell wall consists mainly of carbohydrates and proteins.

C- Functionally intact cell organelles can be isolated from plant cells.

D- The endoplasmic reticulum and golgi apparatus form a network for the distribution of
biosynthesis products.

Choose correct answer from the options given below

1. A, B and D only
2. Cand D only
3. B, Cand D only
4. B and C only
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Options :

21052950385. 1
21052950386. 2
21052950387. 3
21052950388. 4

Question Number : 47 Question Id : 21052912777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fofafey Fyaf ) fGaR &3

A AR IDITSTT &1 Gfom Ceififm 781 giar 3

B. DIA®] B SIdR H GBI FY I Dlaielsac AR UIiKH id B

C. BUIES U 4 TRaR 9d Al-d o Tl D DI I 3o faar o 9@ &

D. 3{3: Ugogd! Sfcidl 3R M SUHIY wiauReiyy] SdiG| & (ool & (ol UH oid-od a1d 6 |
i feu e fasmedl © O gel SR 9

1.%ad A B3R D
2. %dd C3RD
3. $ad B, C 3R D
4, @ad B3R C

Options :

21052950385. 1
21052950386. 2
21052950387. 3
21052950388. 4

Question Number : 48 Question Id : 21052912778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A line representing points of equal time-distance from a point, such as the transportation time
from a particular point is known as-

1. Isobar

2. Isatherm
3. Isochrone
4, Isocheim

Options :
21052950389. 1
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21052950390. 2
21052950391. 3
21052950392. 4

Question Number : 48 Question Id : 21052912778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fod! fig O ouH uag-gdl & fogsfl @i a2ii- ar @, oY fadl faey fdg 9 uRagd &1 989,
ST STl 8-

1. HOHER
2. gy
3. HAEHH
4, agTH

Options :

21052950389. 1
21052950390. 2
21052950391. 3
21052950392. 4

Question Number : 49 Question Id : 21052912779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following statements:

A. Development of character is controlled by a gene.

B. Each gene exists in two alternate forms called alleles, which governs the contrasting forms
of a character.

C. Alleles of a gene cannot separate into different gametes of the hybrid.

D. Each somatic cell has only one copy of a gene, while gametes have two copies.

Choose the correct answer from the option given below:

1. A and B only
2. Cand D only
3. A and Conly
4. B and D only

Options :
21052950393. 1
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21052950394. 2
21052950395. 3
21052950396. 4

Question Number : 49 Question Id : 21052912779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frafaied syl ) R &Y

A. T &1 fdora s o arR1 it faar orar 21

B. Udd Wi &l ddfcysd &l § Higg sial & ford Udiicd del Sidl e, o U i & faudid w4
GANEEIERE RG]

C. OfiF & Uclicl ersfae & fafis g™l o SeiT el ol 9dd |

D, Ui Tifed Yo H ofF &1 Phad TP Uld gid! &, Si&id THS &1 af Uiodi gial e

i feu T fasey H 9 WEl 3 I

1. A 3R B ®ad
2. € 3R D $ad
3. A 3R CcHad
4, B 3R D ®ad

Options :

21052950393. 1
21052950394. 2
21052950395. 3
21052950396. 4

Question Number : 50 Question Id : 21052912780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements
Statement I: Plastids have evolved from cyanobacteria.

Statement lI: Peroxisomes are the site of reactions in which non-toxic intermediates are
formed.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement 1l is incorrect
4, Statement | is incorrect but Statement |l is correct

Options :

21052950397. 1
21052950398. 2
21052950399. 3
21052950400. 4

Question Number : 50 Question Id : 21052912780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gl Yy g g :

HY - | ; URAEEIE § @i s afid gu |

U - 1| WS uRibaet @1 9ge & e R 0 gued e )
Iuad HYAl & cle B FAgfeiad fdwcdl § 9 U8l SR A ;

1. @Y | R 11 GF T8 B

2. YT | SR |1 BFI TEd 81

3. %Y1 9 B, fo YA 11 TTEd & |
4 DY Hgd ¢, Ty 11 981 Bl

Options :

21052950397. 1
21052950398. 2
21052950399. 3
21052950400. 4
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Part II Biology 8
Section Id : 210529179
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529430
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 21052912781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following types of plastid does not contain stored nutrients?

1. Elaioplasts

2. Amyloplasts
3. Chromoplasts
4. Aleuroplasts

Options :

21052950401. 1
21052950402. 2
21052950403. 3
21052950404. 4

Question Number : 51 Question Id : 21052912781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEd Y3 Y ad® § UN® o o9 T8l oid ?

2. ORI
3. PIHIERE
Options :
21052950401. 1

21052950402. 2
21052950403. 3
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Question Number : 52 Question Id : 21052912782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
E. coli growing in a medium containing radioactive thymidine was allowed te grow in normal
medium (without radicactive thymidine) for two generations. What percentage of bacteria will

have radioactive DMA strand?

1. 100%
2. 50%
3. 25%
4.12.5%

Options :

21052950405. 1
21052950406. 2
21052950407. 3
21052950408. 4

Question Number : 52 Question Id : 21052912782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@iz <l difedl # 94 & fog fsaiufgeg uisHis = Ared o amrg: (e el ufdeg
ursHaH) H gidr g fdbaq ufded se<ivar § gl ufdeg S0 ¥ e

1. 100%
2. 50%
3. 25%
4.12.5%

Options :

21052950405. 1
21052950406. 2
21052950407 3
21052950408. 4

Question Number : 53 Question Id : 21052912783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 60


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

Asexual spores are generally NOT found in

1. Ascomycetes
2. Basidiomycetes
3. Zygomycetes
4, Deuteromycetes

Options :

21052950409. 1
21052950410. 2
21052950411. 3
21052950412. 4

Question Number : 53 Question Id : 21052912783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3fcifTes TR U: FAE H g Ul oId © 2

2. gifafedl Bibg
3. S g
-"-f-. gqiﬂt EI.-'%.?E:

Options :

21052950409. 1
21052950410. 2
21052950411. 3
21052950412. 4

Question Number : 54 Question Id : 21052912784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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List | List Il

A. Schleiden and Schwann|l. Chromatin
B. Rudolf Virchow Il. Nucleus

C. Flemming llI. Cell theory

D. Robert Brown

V. Omnis celluta-e cellula

Choose the correct answer from the options given below:

TA-N,B-WV,C-1,D=~Il

ZA-M,B-1,C-WV,D-
3A-NILB-WV,C-II,D-|
4 A-1ILB-ILC-IV,D-1

Options :

21052950413. 1
21052950414. 2
21052950415. 3
21052950416. 4

f GETITON )
| » Google Play |

Question Number : 54 Question Id : 21052912784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 ol al -1l Y GHfed it ;
y T -
3 TR N 4H | BEEH
g, Salew [aedl I Hsd
. TRITHT 1. DIfRIDT [Fgid
& Uae 13 V. SRS Iga - § - Hqdl
< feu T faseal o © Ol IR g

T -, d-1V, "H-1,a-1l
2=l 9-1, -1V, a-1l

3L E-1VH-1l, a-|
4 d-1,9d-1N,9-1V, c-1

Options :

21052950413. 1
21052950414. 2
21052950415. 3
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21052950416. 4

Question Number : 55 Question Id : 21052912785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following has least similar characters?

1. Family
2. Genus
3. Class
4, Species

Options :

21052950417. 1
21052950418. 2
21052950419. 3
21052950420. 4

Question Number : 55 Question Id : 21052912785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
G AR R R AT T RE l

2. 991
3.9
4, ifd

Options :

21052950417. 1
21052950418. 2
21052950419. 3
21052950420. 4

Question Number : 56 Question Id : 21052912786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Red tide is caused by

1. Gonyaulax
2. Ceratium
3. Euglena

4. Navicula

Options :

Page - 63


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N TR B | B GETITON |
. ‘ ‘\ Google Play

21052950421. 1
21052950422. 2
21052950423. 3
21052950424. 4

Question Number : 56 Question Id : 21052912786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IS SR Bl 6 -

1. SR

2. FeRrdign

3. i

4, dipan

Options :

21052950421. 1
21052950422. 2
21052950423. 3
21052950424 4

Question Number : 57 Question Id : 21052912787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct with respect to ecological pyramids?

A.The base of each pyramid represents the producers or the first trophic level while the apex

represents tertiary or top-level consumer.

B.The pyramid of energy is always upright.

C.A given species can occupy only one trophic level in the same ecosystem at the same time
D.The pyramid of number in tree ecosystem is upright.

E.Saprophytes are not given any place in ecological pyramids

Choose the correct answer from the options given below:

1. A, B, C Only

2. A, C D, EOnly
3. B, D Only

4. A, B, E Only

Options :
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21052950425. 1
21052950426. 2
21052950427. 3
21052950428. 4

Question Number : 57 Question Id : 21052912787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEH Y DH Y oY TR RIHS S @eH H 981 &

3. B RIS &1 o14R 3ifdl & [ Se®| a1 UyH UiiPHdl T3 Jdid 3y 0 el 91 3=
SUHIE

. Soll &f [UHS 5HIT HW I AR aidl 6
. T olid ®aq U@l dd B #aa o TP Ppal TR RIS el GG H el &
. Ue uitfRufaet & & e fiRifies SR & iR e e

7. gifyfae! o7 § WRIGsed &1 Sl WH 96l &

fau U faarcal | 9§ 98] SR 94 :

1.HaqH YTy
2. had A, GG aury
3. PAAT UG

A HIdaH YUY

Options :

21052950425. 1
21052950426. 2
21052950427. 3
21052950428. 4

Question Number : 58 Question Id : 21052912788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

First clinical gene therapy was given in 1990 to a 4-year old girl child for treating

1. Insulin dependent diabetes

2. Phenylketonuria

3. Cystic fibrosis

4. Adenosine deaminase deficiency

Options :
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21052950429. 1
21052950430. 2
21052950431. 3
21052950432. 4

Question Number : S8 Question Id : 21052912788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1990 H Ugtil IR Wi fafded] Uh IR Hicl i =il & SUdR 641 7]

1. SO ST AYHE
2. TSt fapet g
3. fofees wafig

4, UTSAET e 3 Sl

Options :

21052950429. 1
21052950430. 2
21052950431. 3
21052950432. 4

Question Number : 59 Question Id : 21052912789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plant bends towards the source of light when exposed to light on only one side. Which of

the following is the best explanation of the phenomenon?

1. They need light for photosynthesis

2. The apices of their stems are attracted by light

3. Some auxin accumulates on the shaded side to induce greater cell elongation on that side
4. Light stimulates the cells on the illuminated side to increase in length

Options :

21052950433. 1
21052950434.2
21052950435.3
21052950436. 4

Question Number : 59 Question Id : 21052912789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g U UIYT UhI2 &1 AR Hadl ¢ | FE H 9 314 - Ul ogregl $u & o0 98 3ugad 5|

1, 38 YOI URC9Y & (o0 UdhmEl & aaddl aidi o |

2. T &1 3B SR U @ R ATHNd gidl o

3. P A 3H51 BIdl & 9l BIRID] Se il Bl gl o
4, 579 9dg IR USRI USdl & 98l &1 SIReU 3594 sial el

Options :

21052950433. 1
21052950434. 2
21052950435. 3
21052950436. 4

Question Number : 60 Question Id : 21052912790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Blood vessel carrying blood away from glomerulus in a mammalian nephron is called

1. Renal artery
2. Efferent artericle
3. Afferent arteriole

4 Vasa recta

Options :

21052950437. 1
21052950438. 2
21052950439. 3
21052950440. 4

Question Number : 60 Question Id : 21052912790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YR AP H THead § Y6 Aeie & @ o W aril

1. S G
2, Jugiel g1
3. HATHETET HAT
4, g1 39T

Options :

21052950437. 1
21052950438. 2
21052950439. 3
21052950440. 4
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Question Number : 61 Question Id : 21052912791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The bark of a girdled tree (upto phloem) may become swollen after a few weeks because

1. Water will not move upwards

2. Water will not move downwards

3. Sugars and other organic materials will not move downwards
4. Sugars and other organic materials will not move upwards

Options :

21052950441. 1
21052950442. 2
21052950443. 3
21052950444. 4

Question Number : 61 Question Id : 21052912791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

DY il Ug Bl B (WIUH db) $6 TEE & §ig ba oldl g, il

1. UHI $W DT 3R 6] 9¢dl &

2, g1 +1d @1 SR Tl ol 6 |

3. T 9T 39 SIS yard A BT 3R 78] 9d o
4, I qUT 3 S gard FHuL Bl 3R 96 gedl ol

Options :

21052950441. 1
21052950442. 2
21052950443. 3
21052950444. 4

Question Number : 62 Question Id : 21052912792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11

A.Clavicle |l. Pelvic girdle

B.Femur |ll. Knee cap

C.Ischium |lll.Thigh bone

D.Patella |IV. Pectoral girdle

Choose the correct answer from the options given below:

1. A-IV, B-lll, C-1, DI
2. A-IV, B-1, C-lII, D~
3. A-ll, B-1, C-IV, D-1lI
4, A-1ll, B-IV, C-1, D-I

Options :

21052950445. 1
21052950446. 2
21052950447. 3
21052950448. 4

e

GETITON

Google Play |

Question Number : 62 Question Id : 21052912792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 @ gl -1 I gafad sifeu

T - G -

3. St . Ofcas ufsa
q. B II. ge- B 2l
. 3ieagy I11. SI% Bl g5t
ERUIES] Iv. TeeRe afsd

T H-V, d-1U,8-1, -1
29 -V, d-1, " -1, G-l
39, d-1L"H-IV, a1l
4. 3d-,9-1vV,.H-1, -1

Options :

21052950445. 1
21052950446. 2
21052950447. 3
21052950448. 4
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Question Number : 63 Question Id : 21052912793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The spread of living pteridophytes is limited and restricted to narrow geographical regions

because

1. Gametophytes are dependent on sporophytes

2. Sporophytes require cool, damp place to produce gametes
3. Gametophytes require cocl, damp and shady places to grow.
4. They do not need water for fertilisation

Options :

21052950449. 1
21052950450. 2
21052950451. 3
21052950452. 4

Question Number : 63 Question Id : 21052912793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1. TR PE ey WRIBEEE ® SO M4 8T
3, MEEIBIEey &I 681, 99 3N BEGR e §¢4 & oY
4 9T & ToU 3 U1 &1 319Gl el 9ol

Options :

21052950449. 1
21052950450. 2
21052950451. 3
21052950452. 4

Question Number : 64 Question Id : 21052912794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statements are correct regarding the structure of contractile proteins?
A. Myosin is a thick filament which is also a polymerized protein

B. The globular head of meromyosin is called the light meromyosin (LMM)

C. Actin is a thin filament and is made up of two F- actins

D. The complex protein, tropomyosin is distributed at regular intervals on the troponin

E. Two filaments of troponin run close to F actins

Choose the correct answer from the options given below:

1. A, B Only
2. A, D, EOnly
3. A, COnly
4. B, C, D Only

Options :

21052950453. 1
21052950454. 2
21052950455. 3
21052950456. 4

Question Number : 64 Question Id : 21052912794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g Ai e - e R su Ut S HeH H 8l
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9, Ufde U Udal 91 8 S Gl - U Ufaed ®I s gl gl

G. @6 Ui, SUHaR Uh iiaR add & 916 gl 3fidl 8|

g, 2 & ol e Uk - Tfge & T Teid §
faepeal o © HEl 3T 9

1, 3 TYT § Had
2, 3, G aUl g $haq
3. ¥ dYT g &ad
49 U g Haqa

Options :

21052950453. 1
21052950454. 2
21052950455. 3
21052950456. 4

Question Number : 65 Question Id : 21052912795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following spermatogenetic stages in a human male

A. Spermatids

B. Spermatocytes

C. Spermatogonia

D. Spermatozoa

Choose the correct sequence of spermatogenetic stages in a mature human testis

1. ACBD
2 C,BAD
3. D.CBA
4, C,B,D.A

Options :
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21052950457. 1
21052950458. 2
21052950459. 3
21052950460. 4

Question Number : 65 Question Id : 21052912795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R quU & HIU] 9 i Wishdl &I Tel hH H I
q. ERAcEed

. TRESHIT

. TR

Uch URUS T4 gu01 H b1+ 91001 &1 Wal HH gL ;

1.4, 4949 g
249 6§ 3 g
3.6 4 93
44§ g, 3

Options :

21052950457. 1
21052950458. 2
21052950459. 3
21052950460. 4

Question Number : 66 Question Id : 21052912796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Radial symmetry is found in

1. Sponges, Coelenterates, Ctenophores

2. Annelids, Porifera, Platyhelminthes

3. Coelenterates, Ctenophores, Echinoderms

4. Coelenterates, Ctenophores, Platyhelminthes

Options :

21052950461. 1
21052950462. 2
21052950463. 3
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Question Number : 66 Question Id : 21052912796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS gHEY UTE 1l ¢

1. W, faeree, FeoRy
3. o], FeiBiRy, gorEdeHy

Options :

21052950461. 1
21052950462. 2
21052950463. 3
21052950464. 4

Question Number : 67 Question Id : 21052912797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What will happen if the secretion of peptic or chief cells of gastric glands is blocked with an
inhibitor?

1. Gastric juice will be deficient in chymotrypsin

2. Gastric juice will be deficient in pepsinogen

3. Gastric juice will be deficient in mucus and bicarbonates

4. In the absence of HCl secretion, inactive pepsinogen is not converted into active enzyme
pepsin

Options :

21052950465. 1

21052950466. 2

21052950467. 3
21052950468. 4

Question Number : 67 Question Id : 21052912797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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w1 BT Afg s Uy &l Sidie g1 Haos B 16d] oy ;

1. PIOHGCIE H s ogg &H gRTl

2. UofiHTe o s o &9 g

3. 915 - dIEHe 4 oy H s 9F &4 s

4, HC| & T@1d i ®Hl & HRUI [ASHY YIS $f A UftsH 5 98l sea-l

Options :

21052950465. 1
21052950466. 2
21052950467. 3
21052950468. 4

Question Number : 68 Question Id : 21052912798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Triple fusion in angiosperms is the fusion of second sperm with

1. Antipodal cell and one synergid cell
2. Two antipodal cells

3. Two synergid cells

4. Two polar nuclei

Options :

21052950469. 1
21052950470. 2
21052950471. 3
21052950472. 4

Question Number : 68 Question Id : 21052912798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

feu wgoi Uishan sigwsion diel 7 gER T8 & 91y e

1. TEUISd DIRG! T4 TP WERIS DIaT
2. gl Ediuisd DIkt

3. §l GRS BIRIH

4, Gl UIeR Sl

Options :

21052950469. 1

21052950470. 2

21052950471. 3
21052950472. 4
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Question Number : 69 Question Id : 21052912799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Hatch and Slack pathway, carboxylation of RuBP and decarboxylation of Cs acid occurs in

1. Mesophyll cell and bundle sheath cells, respectively
2. Bundle sheath cells and mesophyll cells, respectively
3. Both in mesophyll cells

4. Both in bundle sheath cells

Options :

21052950473. 1
21052950474. 2
21052950475. 3
21052950476. 4

Question Number : 69 Question Id : 21052912799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8 U4 Wi UIUd § RuBP & BIETGEIIEH R ¢, Bl e@Eieic- sdal e :

1. UUiH O Ul 50 JH HIRS 5 HHE:

2, S50 HF SIS 3N JUHEAS HILd] J Hag:
3. Ui Hifesr 8 g &l

4, gHI gl d3asaH SifiE

Options :

21052950473. 1
21052950474. 2
21052950475. 3
21052950476. 4

Question Number : 70 Question Id : 21052912800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: Down's syndrome is a genetic disarder due to the presence of an additional copy
of the chromosome number 21 (trisomy of 21).

Statement Il: The affected individual is short statured with small round head, is sterile and
expresses Gynaecomastia.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is trus

Options :

21052950477. 1
21052950478. 2
21052950479. 3
21052950480. 4

Question Number : 70 Question Id : 21052912800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T d Py REME

HYA - | 0 ST 21 H U HfdRed o1dl o4 § S16H figH U dies A 3

Y - 1| : TS HRed] U Uiid i § @lel g 3R Siel 1id R 9y T9sdr sidl g
Sudad BUAl & Hdle 4 Fgfiad fadwed 4 981 S

1, YT | AR N GF T B

2. TYF | 3R || Tl 39d B

3. ®YF | 9 &, fooed Y 11 ST B
4 T | 3T T, g FH 1 TT B

Options :

21052950477. 1
21052950478. 2
21052950479. 3
21052950480. 4

Question Number : 71 Question Id : 21052912801 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | List II

A. Bicuspid (mitral) valve |. Between right atrium and right ventricle
B.Aortic semilunar valve |l. Between left atrium and left ventricle

C. Tricuspid valve Ill. Between right ventricle and pulmonary artery
D. Pulmonary semilunar valve|lV.Between left ventricle and aorta

Choose the correct answer from the options given below:

1. A-ll, B-1V, C-llI, D-I
2. A-ll, B-1V, C-{, D-1ll
3. A-lll, B-1, C-ll, D-IV
4, A-ll, B-Il, C-IV, D-]

Options :

21052950481. 1
21052950482. 2
21052950483. 3
21052950484. 4

Question Number : 71 Question Id : 21052912801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 B -1 Qg SR

T | T -1l
3. FEoRTs (Gede acg |1 &1T i ofR e Fem & 99
d. ARfed YR aed 1. 91T 3feie 3R g ey & 59

Y. TIPS died 111, 1Y e AR SEAL 49E & 99
. WHMHR YHIgR dled V. 91U Fe 3R el 73y
e feu e fasedr & © 98l SR ML

TH-1L,d-IV, -1l G-
2H-1d-1IV, 8-, g-1
3H-U,9-1"H-1l, g-1V
A4AH-IL,9-1, -1V, G-

Options :
21052950481. 1
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21052950482. 2
21052950483. 3
21052950484. 4

Question Number : 72 Question Id : 21052912802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The best breeding method used for animals that are below average in productivity is

1. Cross-breeding

2. Interspecific hybridization
3. Out-crossing

4. Inbreeding

Options :

21052950485. 1
21052950486. 2
21052950487. 3
21052950488. 4

Question Number : 72 Question Id : 21052912802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H1Gd I Y IGHdl & ford gl F 3o Yol fafy 3 -

2, Jaiditge He
3, g1 Ui
4, AT U=

Options :

21052950485. 1
21052950486. 2
21052950487. 3
21052950488. 4

Question Number : 73 Question Id : 21052912803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The phenomenon of ‘Industrial Melanism’ demonstrates

1. Natural selection

2. Geographical isolation
3. Reproductive isolation
4. Lamarckism

Options :

21052950489. 1
21052950490. 2
21052950491. 3
21052950492. 4

Question Number : 73 Question Id : 21052912803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i HeraeT B g euidl & ;

2. YT 3feRTa
3. USHH 3T
4, TG

Options :

21052950489. 1
21052950490. 2
21052950491. 3
21052950492. 4

Question Number : 74 Question Id : 21052912804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement I: A population growing in a habitat with limited resources show logistic growth.

Statement lI: Any species growing under unlimited resource conditions can reach enormous
population densities in a short time.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is trus

Options :

21052950493. 1
21052950494. 2
21052950495. 3
21052950496. 4

Question Number : 74 Question Id : 21052912804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T syTfRu U

Y - | : T A H SO B gelad Uiid id § dlid® 1derg | eldl ol
HYA - 11: D15 I Sl SHHIHT Wid B SuRYTd § YR S48 9 H BHEHY Sg a3l Gail o

IuYad SYHl & 3Tciie H FgiRad foeed § 9 981 3w g

1. ®YF | AR G T B

2. ®YA | AR 11 Gl ATT B

3. %Y 1 9 B, T SYA 1 S B
4, FY | HOG B, g YA 11 T B

Options :

21052950493. 1
21052950494. 2
21052950495. 3
21052950496. 4
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Question Number : 75 Question Id : 21052912805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A population in Hardy-Weinberg equilibrium consists of 300 sheeps, some black some white. If
the allele frequency for the recessive allele is 0.3, how many black sheep are there in the

population?

1. 210
2 273
3. 90
4, 27

Options :

21052950497. 1
21052950498. 2
21052950499. 3
21052950500. 4

Question Number : 75 Question Id : 21052912805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
"BTSl-aaT g ®1 94E H 300 43 & 99 $8 9he & Bl ol 3R Uad Haddl
frdtdig uella & faw 0.3 B 9 g & @l Hs @) 9 faaHi & -

1. 210
2 273
3. 90
4, 27

Options :

21052950497. 1
21052950498. 2
21052950499. 3
21052950500. 4

Question Number : 76 Question Id : 21052912806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement is/are incorrect regarding polysaccharides?
A Inulin is a polymer of fructose

B. Both starch and glycogen are present as store house of energy in plant tissue
C. Glucose is a monomer of cellulose

D. Cellulose is a homopolymer while chitin is a heteropolymer

E. Starch does not contain complex helices and hence cannot hold 12

Choose the correct answer from the options given below:

1. A, B, C Only
2. B, D, EOnly
3. B, E Only

4.B,C, D Only

Options :

21052950501. 1
21052950502. 2
21052950503. 3
21052950504. 4

Question Number : 76 Question Id : 21052912806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GicidRIzs & SR H - 9/ Y HYF el Jol & ?

. 3 e s hEgad ¢ |

T, T 3R [Wsdio el el @i dig 4idl & 3u® H adl o
. Teeh s, efeiiel &l HIAF Bl

&. OqqiS U UGl 950 o odid ®lgic- UP ocl 9g0® ol
4. W | wicd eiodd Jol oidl oqd 315 2 @1 I o] Godl
fau U fgwmenl & 1 TEl faded 94 -

1.3, 9 dUT 9 bad
2. & G aul g &ad
3. 9 dY1 g dad

4.9 TIU g Haa
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Options :

21052950501. 1
21052950502. 2
21052950503. 3
21052950504. 4

Question Number : 77 Question Id : 21052912807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in plant breeding

A. Cross hybridisation among the selected parents

B. Selection and testing of superior recombinants

C. Collection of variability

D. Testing, release and commercialisation of new cultivars

E. Evaluation and selection of parents

Choose the correct sequence of steps involved in plant breeding

1. ACED,B
2 C,BAED
3. ACBDE
4 CEABD

Options :

21052950505. 1
21052950506. 2
21052950507. 3
21052950508. 4

Question Number : 77 Question Id : 21052912807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Uty U1 H deH TMHT & -

3. UR 20l H§ 9af-id gda

4. g4 AR GR&U F 95k 5 Yaia®

. uRad-iierd &1 998

<. IR&, ReTs 3R T SideR & AHias iy

4. gasil &1 {eaie Ud I

el o @ [dded UlY FoiH | THd deH! & 99 o1 :

1.4 99849
2H, 49454 g
3448 999
48 4 4 9 g

Options :

21052950505. 1
21052950506. 2
21052950507. 3
21052950508. 4

Question Number : 78 Question Id : 21052912808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List Il

List | List 11

A, Class Aves |. Presence of air bladder

B.Class Chondrichthyes||l.Circular and sucking mouth

C. Class Osteichthyes |lll. Air cavities in bones

D. Class Cyclostomata |IV.Absence of operculum

Choose the correct answer from the options given below:

1. A-IV, B+, C-lI, D-l
2. A-ll, B-IV, C-1, D-1lI
3. A-lll, B-1, C-IV, D-I
4, A-lll, B-1V, C-, D-I

Options :
21052950509. 1
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21052950510. 2
21052950511. 3
21052950512. 4

Question Number : 78 Question Id : 21052912808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 B Yl -1l gHfd S ;

Il | T -1l

3. 97 - gl |. §a1 JARE &I BH

4 @ - By 1, T @ 99 aren 58
4. 97 - A gy 1. 5Tl 7 g TR

G. o - UIgaeiReIHIe] V. RGBT B U
i feu Te faeedl H § 9l Ik 90 ;

1LH-IV, -1, 91, -1l

I &
2H-1Nd-1IV, 8-, ¢
3N, 9-1,°-1V, -l
4. 30- I, 9d-1V, H-1, % -

Options :

21052950509. 1
21052950510. 2
21052950511. 3
21052950512. 4

Question Number : 79 Question Id : 21052912809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which part of the plant is best suited for making virus free plants during tissue culture
method?

1. Ovule

2. Embryo

3. Anther

4, Shoot meristem

Options :

21052950513. 1
21052950514. 2
21052950515. 3
21052950516. 4
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Question Number : 79 Question Id : 21052912809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sao dat fafd = dreff ol faur] Had a9 & [T Uid &1 B 91 4T Y69 3UH ¢ ?

2. 40
3. TARTHER
4 Y¢ Bftey

Options :

21052950513. 1
21052950514. 2
21052950515. 3
21052950516. 4

Question Number : 80 Question Id : 21052912810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following phases of cell cycle

ALS

B.GZ2

C. G1

D.M

Choose the correct sequence of phases of cell cycle

1. CABD
2. D,BAC
3. ACEBD
4 CADE

Options :

21052950517. 1
21052950518. 2
21052950519. 3
21052950520. 4

Question Number : 80 Question Id : 21052912810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

PIRIH a9 & 9 & favg o -

3. Y

4. G2

. il

T

DI gsh & 94T Tehi @l el PH H I

1.9 9,49 g
2qd 34
3.4, 4,49 §
A 3 qd

Options :

21052950517.
21052950518.
21052950519.
21052950520.

AW N —

Question Number : 81 Question Id : 21052912811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
According to Central Pollution Control Board (CPCB), which particulate size in diameter (in

mm) of the air pollutants is responsible for greatest harm to human health?

1. 3.0 or less
2. 4.0 or less
3. 2.5 or less
4, 3.5 or less

Options :

21052950521. 1
21052950522. 2
21052950523. 3
21052950524. 4

Question Number : 81 Question Id : 21052912811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 88


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook | P> Google Play

Hs14 YgUUl FEA0 918 (CPCB) & SR, I Weua! & oy (T ) & iy &1 @1 aR JHd
A & ol 99y HU® JoaH o oY OHGR &7

1.3.0 91 394 &H
2. 409 39Y &Y
3.2,5 91398 &5
4,359 398 &Y

Options :

21052950521. 1
21052950522. 2
21052950523. 3
21052950524. 4

Question Number : 82 Question Id : 21052912812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is/are correct regarding red algae?
A. Asexual reproduction takes place by motile spores

B. Sexual reproduction may be isogamous, anisogamous or cogamous
C. Food is stored in the form of floridean starch

D. They are called red algae because of the predominance of the red pigment, r-phycoerythrin
in their body

E. They possess chlorophyll a and d
Choose the correct answer from the options given below:

1. A, B, C Only

2. A, B, D, EOnly
3. B, E Only

4.C, D, E Only

Options :

21052950525. 1
21052950526. 2
21052950527. 3
21052950528. 4

Question Number : 82 Question Id : 21052912812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A YT d FEH A B - F/ S PYT Hl 3 2

3. T fhRd TR & GR1 3AId o aidl 8

. AEEAHY, TIHEREY 91 S8 df® 94 &l 9d o

4. RIS ¥E & 4 8 Ui teF el g

<. TS 97 H <1 T B ADH I 9T AR - BISBIRYH g & &R gldl
. I9H AR a GUT b BIAT B |

G el T uE ST :

1.3, 9 qUT § ®ad
2.3, 9 € quT g &ad
3. 9 dY1 g dad

49 G I g Haq

Options :

21052950525. 1
21052950526. 2
21052950527. 3
21052950528. 4

Question Number : 83 Question Id : 21052912813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List Il

List | List Il

A. Pusa swarnim |l. Bacterial blight
B.Himgiri . White rust

C. Pusa Komal lll. Tobacco mosaic virus
D. Pusa Sadabahar|lV.Leaf and stripe rust

Choose the correct answer from the options given below:

1. A-ll, B-I, C-IV, D-|
2. A-ll, B-IV, C-1, D-1lI
3. A-lll, B-1, C-ll, D-IV
4, A-lll, B-l, C-1V, D]

Options :
21052950529. 1
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Question Number : 83 Question Id : 21052912813 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 @I et -1l ° gafed S -

T | T -1l

. a1 Wi . dEIRAT BT &N
CARLIUE 11 TG Tl

. JUl diFd 11, a1 Hisld TRy

. U9 GalEeR V. Tl STR i) &1 el
-id feu 7e fgeedl H § 981 3R 9HU:

TH-IL,d-1,9-1IV, G-
2o, d-1IV,H-1, -1l
-l Eg-1LH-1, -1V
4. -, 9-1L,°-1V, q-|

Options :

21052950529. 1
21052950530. 2
21052950531. 3
21052950532. 4

Question Number : 84 Question Id : 21052912814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: Bryophytes are also called amphibians of plant kingdom because they can live in
soil and are not dependent on water for sexual reproduction.

Statement II: The main plant body of bryophytes is diploid and is called sporophyte.

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is trus

Options :

21052950533. 1
21052950534. 2
21052950535. 3
21052950536. 4

Question Number : 84 Question Id : 21052912814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EIEEACIE R U

TYT - | THGE Y THl § SHTE 81d & 91T T TR I6d & SR ARIE S & 108 UHT )R
I 5l 8 B

HYF - || : FATBISed B Ji9 HFT T01d §1aT & 39 WRIhTsed $5d &

IuYad SYHl & 3Tciie H FgiRad foeed § 9 981 3w g

1. ®Y | 3R 11 G T &

2. BYF | AR 11 BE ATd B

3. %Y 1 9 B, T SYA 1 S B
4T | AT, g FYF 1 T R

Options :

21052950533. 1
21052950534. 2
21052950535. 3
21052950536. 4
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Question Number : 85 Question Id : 21052912815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement(s) is/are not correct regarding lysosomes?

A. The hydrolytic enzymes of lysosomes are active under alkaline pH

w

Lysosomes are membrane bound structures

C. Lysosomes are formed by the process of packaging in the endoplasmic reticulum
D. Lysosomes have numerous hydrolytic enzymes

Choose the correct answer from the options given below:

1. A Only

2 B, D Only
3. A, D Only
4. A, COnly

Options :

21052950537.
21052950538.
21052950539.
21052950540.

AW N =

Question Number : 85 Question Id : 21052912815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AU & Ty H B - T/ Y HYH Tl 8l o ;
3. TEY9H & glgsidice Tuled Uedhlad pH H Tihd 81 8|
9. AISUH U fEie god 9XaHl gl

. UUS ot ® e | arsara gigH &t uisdr & R §9d o
& AIsHgE H 950 9N glSeidiicd Tolsd 8id 6
f&q 71U fameat & 9 Tel fgded 9 -

1. Had 3

2. 49Ul g bad
3. ¥ 9YI § had
4.3 dUT g Had

Options :
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21052950537. 1
21052950538. 2
21052950539. 3
21052950540. 4

Question Number : 86 Question Id : 21052912816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il
A. Boron . Splitting of water during photosynthesis
B. Manganese |ll. Synthesis of auxin

C. Molybdenum|lll. Component of nitrogenase

D. Zinc V. Pollen germination

Choose the correct answer from the options given below:

1. A-1IV, B+, C-llI, D-I
2. A-ll, B-1, C-IlI, D-IV
3. A-ll, B-1ll, C-|, D-IV
4, A-1ll, B-II, C-IV, D-|

Options :

21052950541. 1
21052950542. 2
21052950543. 3
21052950544. 4

Question Number : 86 Question Id : 21052912816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Page - 94


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

- -1
3. ERH |, HenTST Y=g § wid faged
CREUEI 1, 3nfaa Heagm
4. HiicigsH 111, FATSIoE BT 3
5. foi@ V. AT 3TH H
i feu e faeedl o © Tel IR g

TH-IV, d-,H-1I,g-1l
2= d-L"9-l, -1V
3H-Nd-N,F-1, G-V
4 A-1,9-1, -1V, G-I

Options :

21052950541. 1
21052950542. 2
21052950543. 3
21052950544. 4

Question Number : 87 Question Id : 21052912817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Proteins encoded by genes crylAc and cryllAb control corn borer, that of crylAb
control the cotton bollworms

Statement II: Bt toxin protein exist as inactive protoxins but once an insect ingest the inactive
toxin, it is converted into an
active form of toxin due to the alkaline pH of the gut

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4. Statement | is false but Statement |l is true

Options :

21052950545. 1
21052950546. 2
21052950547. 3
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21052950548. 4

Question Number : 87 Question Id : 21052912817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
EiE EAEIEA RIS

FYF - | : 9 crylAc TUT eryllAb BRI G R Ui s wad &I U0 &dl & ayl crylAb
S SIcaH (Bollworm) BT T BT 5|

®YF - 11 ; Bt 99 [AfSHg &4 H UIEIRA (Protoxin) Y H Bidl © fbq 98 39 DI &1 A H RUd
A pH & Terd faw # ofafda gf < 1

Suddd Byl & Hclie § FgfaRad fadbedl d 4 Tl IR 97 -

1, Y| AR 11 GF I B

2. YT | 3R 11 GHT 3T &1

3. HYF | I B, T B 1 S B
4 DY OGS, b dY 11 T &

Options :

21052950545. 1
21052950546. 2
21052950547. 3
21052950548. 4

Question Number : 88 Question Id : 21052912818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement(s) is/are correct regarding lysosomes?

A. Heroin is obtained from the latex of poppy plant

B. Cannabinoids effect cardiovascular system of human body

C. The drug obtained from Erythroxylem coca interferes with neurotransmitter dopamine
D. Cocaine commonly called crack is chemically diacetylmorphine

E. Heroin has a potent stimulating action on central nervous system

Choose the correct answer from the options given below:

1. A, B, C EOnly
2. B, D Only

3. A D, EOnly
4. A B, COnly

Options :

21052950549. 1
21052950550. 2
21052950551. 3
21052950552. 4

Question Number : 88 Question Id : 21052912818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ao & A g YT Yol o
3. BRI Uig Oief & oiees (Ad o) § 9dT &

. FIg35Y HHd IRR & 864 UNEEU T1 dlfe®] o U3 UHIg Sadl &

. Ufiielisay ®idT U U g9 RIeigHie? (neurotransmitter) SIGMHEIEH U UYTd Sadl &
G. Bl B GHE: IHAH® 9 &1 SETUCEaaRb P (crack) Ped &

4. BRI5 J 9gd Ufaaeell oeieh gidl & il 1Y dEdT YUITl WX THIG Hdl &

feu 7L famedl & 4 Tel famed 9He

1. $aaH, 9,99
2. PaqA, §

3. PHaad, g d
A Haad A g9
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Options :

21052950549. 1
21052950550. 2
21052950551. 3
21052950552. 4

Question Number : 89 Question Id : 21052912819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is required as inducer(s) for the expression of Lac operon?

1. Galactose

2. Lactose

3. Lactose and galactose
4. Glucose

Options :

21052950553. 1
21052950554. 2
21052950555. 3
21052950556. 4

Question Number : 89 Question Id : 21052912819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
19 i@ A H SR & # U H UHE el ¢ -

2, Tgeg
3, dgelg gl Iiciae g

Options :

21052950553. 1
21052950554. 2
21052950555. 3
21052950556. 4

Question Number : 90 Question Id : 21052912820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Select the incorrect statement(s) about biodiversity

A. It increases from high to low latitudes

B. Increased biodiversity contributes to higher productivity

C. Within a region, species richness increases with increasing explored area.

D. Loss of bicdiversity in a region leads to decreased variability in ecosystem processes

E. Tropical environments promote niche specialization and lead to decrease in biodiversity
Choose the correct answer from the options given below:

1. A, D only
2. B, C, D Only
3. B, Eonly
4. D, Eonly

Options :

21052950557. 1
21052950558. 2
21052950559. 3
21052950560. 4

Question Number : 90 Question Id : 21052912820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wid fafquar & g=a ¥ -
3. g 3Ol 4 -d @ AR Senl o |

4. 3 Sldfaiqydl 3 Sdradadl Al g |

. i T4 &3 & "¢+ UF Sfad Ugdl &7 3 96d] ol 8

&. Giafafgedl & Wel/ B B U UIRidfa®! o9F wshH H fafayd vedi 2|

7. TS (Tropical) TAIER01 1Y (Niche) faRSIdl 961l & fodd hawawy oid fafad 9edl 2|
f&T 77U fgoedt # 4 el faded 94 -

1. HIaAH, G
P T [ e A
3. Paae g
APHaaG g
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Options :

21052950557. 1
21052950558. 2
21052950559. 3
21052950560. 4

Question Number : 91 Question Id : 21052912821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Organic compounds that are tightly bound to enzyme protein is called
prosthetic group.

Statement II: A complete catalytic active enzyme with its bound prosthetic group is called
apoenzyme,

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement |l is trus

Options :

21052950561. 1
21052950562. 2
21052950563. 3
21052950564. 4

Question Number : 91 Question Id : 21052912821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Taa sy fguu g

DY - | DlaHD Gard G TagH 9 Aogdl O OS] sidl & 34 UIiedH (Prosthetic) THE ®ad ol

B - 11 : T Q0| HighY TI5H Sl 30 TP (Prosthetic) THE § W31 811 & TAUSEH
(Apoenzyme) BB &

S DY & el § FEiciRad fadedl 3 I Wel 3wk 9 ;

1. YT | 3R 1 GF TA B

2. @Y | 3R || Gl 319d B

3. BYF | 9 B, Tooe Y 11 I B
4, BT | 3T &, fg DU 1| T B

Options :

21052950561. 1
21052950562. 2
21052950563. 3
21052950564. 4

Question Number : 92 Question Id : 21052912822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | List Il
A. Tyhoid I. Trichophyton
B. Filariasis 1. Salmanella

C. Ringworms |lll. Entamoeba histolytica

0. Amoebiasis|IV. Wuchereria

Choose the correct answer from the options given below:

1. A-IV, B+, C-lI, D-I
2. A-ll, B-1V, C-llI, D-I
3. A-ll, B-IV, C-1, D-1lI
4, A-ll, B-l, C-IV, D-1lI

Options :

21052950565. 1
21052950566. 2
21052950567. 3
21052950568. 4
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Question Number : 92 Question Id : 21052912822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T - P - @GR FiR

Il | I -1l

A, UTRRZS |. SISDIWBIZe (Trichophyton)
. W@ﬁm I1. e (Salmonella)

4. TA®H (Ringworms) 1. TE3fHlE B asics

G m V. mwﬁucher@r{a]

rd feu Tt faseedl & © Tel IR gHL

T.H- IV, d-LH-1II, G-Il
2H-1,d-1IV, §-1Il, G- |
3H-NF-IV, -, g-1
A4 H-IlL9-1L,"H-1IV, g-1

Options :

21052950565. 1
21052950566. 2
21052950567. 3
21052950568. 4

Question Number : 93 Question Id : 21052912823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a method for ex-situ conservation?

1. Botanical garden

2. Wildlife safari parks
3. National parks

4. Zoological parks

Options :

21052950569. 1
21052950570. 2
21052950571. 3
21052950572. 4

Question Number : 93 Question Id : 21052912823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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7 SRa®H Wrem &l [9fd Tl 8 2

1. G5 ST (Botanical garden)
2. TOSIE GEHT (safari) UTh

3. PG &

4, yToft 3

Options :

21052950569. 1
21052950570. 2
21052950571. 3
21052950572. 4

Question Number : 94 Question Id : 21052912824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following steps involved in recombinant DNA technology
A. Downstream processing

B. Insertion of recombinant DNA into host cell

C. Isolation of genetic material

D. Obtaining the foreign gene product

E. Cutting of DNA at specific locations

Choose the correct sequence of steps

1.C,A B DE
2CEBDA
3.A,EB D C
4 CED B A

Options :

21052950573. 1
21052950574. 2
21052950575. 3
21052950576. 4

Question Number : 94 Question Id : 21052912824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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DNA GG dd-id & wH o

3. §g1d BI fG=MH

9. 1% DIfRD1 § GFUaifoid DNA ST IH19
. 4R gard ®1 THA (Isolation)

<. 918l S Id1g &l U &3l

4. DNA BT 9209 R W SleAl

iU L famedl 5 9 9l fadey 9iHY

1.9, 3,9 ¢4
299 49, ¢ 3
34,3499
49 949 3

Options :

21052950573. 1
21052950574. 2
21052950575. 3
21052950576. 4

Question Number : 95 Question Id : 21052912825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The main criteria for Five Kingdom classification proposed by Whittaker are:
A. Thallus organization

B. Cell structure

C. Reproduction

D. Gram staining

E. Phylogenetic relationship

Choose the correct answer from the options given below:

1. A, B, D only
2. B, C, Eonly

3. A B C Eonly
4. D, Eonly
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Options :

21052950577. 1
21052950578. 2
21052950579. 3
21052950580. 4

Question Number : 95 Question Id : 21052912825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fagea gR1 Niaaniad U U9 im0 & g YR § -

3, UTF (Thallus) 351

9. DD W]

. T

. TeH AT

7. 99Mgaig HaY

feu U fadedl & 4 Wel fdwed g
1, $A0H, 9,

2. Haa s, 4,1

3, thad 99
4 A G 4

Options :

21052950577. 1
21052950578. 2
21052950579. 3
21052950580. 4

Question Number : 96 Question Id : 21052912826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is the main enzyme required for transcription?

1. DNA dependent DNA polymerase
2. DNA dependent RNA polymerase
3. RNA dependent RNA polymerase
4. RNA dependent DNA polymerase

Options :
21052950581. 1

Page - 105


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

N P> Google Play

21052950582. 2
21052950583. 3
21052950584. 4

Question Number : 96 Question Id : 21052912826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NGEIREE (Transcription) ﬁﬂ@ U=algH UgQ Er!"l?ﬂ%:

1. DNA 21eMRd DNA TR
2. DNA 3{T8T¥d RNA TTaHE
3. RNA Tefd RNA TrefiEg

i

4 RNA ATeMRT DNA TTRTEE

Options :

21052950581. 1
21052950582. 2
21052950583. 3
21052950584. 4

Question Number : 97 Question Id : 21052912827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Endosperm is completely consumed by the developing embryo in all except:

1. Pea

2. Groundnut
3. Bean

4, Castor

Options :

21052950585. 1
21052950586. 2
21052950587. 3
21052950588. 4

Question Number : 97 Question Id : 21052912827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TG 5U YUT GRT YUId Y P SHq=ISY] ol il & -

1. He

2. JIpel
3. 49

4, L]

Options :

21052950585. 1
21052950586. 2
21052950587. 3
21052950588. 4

Question Number : 98 Question Id : 21052912828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The eye of Octopus and eye of cat show different patterns of structure, yet they perform

similar function. This is an example of

1. homologous organs that have evolved due to divergent evolution
2. analogous organs that have evolved due to convergent evolution

3. analogous organs that have evolved due to divergent evolution

4. homologous organs that have evolved due to convergent evelution

Options :

21052950589. 1
21052950590. 2
21052950591. 3
21052950592. 4

Question Number : 98 Question Id : 21052912828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ae gy qy fael @ g 99 UeR &) G391 9id & Jyiiy d 99§14 @d o | I8 3alevl &

1. JoIrrg 7 foma] [dary ofuar] fderg 4 g
2. A%y 31 feT fadmry Sfugiia s faer U gai
3. ATEY {7 ST [Ty 2uErl faere 4 gon
4, FOITY 31 [ [9®r HERUIY HarTd [aey J g3

Options :
21052950589. 1
21052950590. 2
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21052950591. 3
21052950592. 4

Question Number : 99 Question Id : 21052912829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Haemophilia is more commonly seen in human males than in human females because

1. It is a X-linked recessive disease
2. A greater proportion of girls die in infancy
3. It is a Y-linked recessive disease
4 It is a X-linked dominant disease

Options :

21052950593. 1
21052950594. 2
21052950595. 3
21052950596. 4

Question Number : 99 Question Id : 21052912829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fenifpierar aFa T 8, Arrell &1 goqr 3 Hf@aT Ukl ol 6 -

2. HfFaR FifcTd] €994 J 5 AL 9l 6
3. 98 Y - U049 UYEI I &
A T X - Ay YHIE I 8

Options :

21052950593. 1
21052950594. 2
21052950595. 3
21052950596. 4

Question Number : 100 Question Id : 21052912830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List 11

A. Primary consumers  |l. Top carnivore
B. Tertiary consumers ||l Herbivore

C. Producers IIl. Carnivore
D. Secondary consumers||V. Plants

Choose the correct answer from the options given below:

1. A-lll, B-1, C-IV, D-lI
2. A-ll, B-1, C-1V, D-1lI
3. A-ll, B-1ll, C-|, D-IV
4, A-1ll, B-II, C-IV, D-|

Options :

21052950597. 1
21052950598. 2
21052950599. 3
21052950600. 4

Question Number : 100 Question Id : 21052912830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 ol Tal -1l Y GHfed i ;

Il | -l

31, YT I . HaT= HiEER
d. gdigd SUHI] 1|, MBI

9. JdR® 111, AFETEIR

c. fgdiad SuHid Iv. diel

i feu 7e faedl H © Tl IR 9T :

T -, d-1,°H-1V, -l
2o, d-1L,"H-IV, g1l
3-ILd-N,F-,a-1V
4. H-1,9-1,"9-1V, q- |

Options :

21052950597. 1
21052950598. 2
21052950599. 3
21052950600. 4
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Part III Chemistry 8
Section Id : 210529180
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529431
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 21052912831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following undergoes nucleophilic substitution exclusively by SNy mechanism?

1. Methyl chloride

2. Cyclohexyl chioride
3. Isopropyl chloride
4. Benzyl chloride

Options :

21052950601. 1
21052950602. 2
21052950603. 3
21052950604. 4

Question Number : 101 Question Id : 21052912831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fgfafad § T 0 s, 7 811 1939 &9 9 Iieaaiibiad Uiawg- 9§ Tordl 87

2, OEdieaad gaNss
3. AEHUUEd TARGS
4, doil3d FIRISS

Options :
21052950601. 1
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21052950602. 2
21052950603. 3
21052950604. 4

Question Number : 102 Question Id : 21052912832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has highest percentage of chlorine?

1. Chlorobenzene

2. Chloral

3. Pyrene

4. Hexachlorocyclohexane

Options :

21052950605. 1
21052950606. 2
21052950607. 3
21052950608. 4

Question Number : 102 Question Id : 21052912832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 3 3 s oarsH &1 e 9ol 22

1. AR &9
2, AR
3. D!Ej\:q

4 o9 TR GEadlodad

Options :

21052950605. 1
21052950606. 2
21052950607. 3
21052950608. 4

Question Number : 103 Question Id : 21052912833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If a compound, Y boils at 315 °C with little decomposition then, the impure compound Y can

be purified by

1. Simple distillation

2. Vacuum distillation

3. Extraction with solvent
4. Steam distillation

Options :

21052950609. 1
21052950610. 2
21052950611. 3
21052950612. 4

Question Number : 103 Question Id : 21052912833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot TP TifTe, v UTST 3{U9e & 91y 315 °C T 3aadl &, 1 €S 411 ¥ @l HEY
2[5 b & Thll &

1. Hdcf HHgH

2, fraid smrgaq

3. g & g1y fAspyo
4, Y79 g

Options :

21052950609. 1
21052950610. 2
21052950611. 3
21052950612. 4

Question Number : 104 Question Id : 21052912834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
On reaction of ethene with Baeyer's reagent, the product is

1. Ethane

2. Ethene

3. Diethyl ether
4. Ethylene glycol

Options :
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21052950613. 1
21052950614. 2
21052950615. 3
21052950616. 4

Question Number : 104 Question Id : 21052912834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T @ 9% AfHEAS & 91y Uil ¥ o1 3dIG §9dl &

1. Ty

2. 04

3. SISUUEH 35U

4, TYUTETH TTs®id

Options :

21052950613. 1
21052950614. 2
21052950615. 3
21052950616. 4

Question Number : 105 Question Id : 21052912835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following is most acidic?

1. Heptane-2 4-dione

2. Heptane-2,5-diohe
3. Heptane-2,6-dione
4. Heptane-2,3-dione

Options :

21052950617. 1
21052950618. 2
21052950619. 3
21052950620. 4

Question Number : 105 Question Id : 21052912835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Fafaied 5 9 & 999 8w Ry 82

1. 89cH-2,4- SR HIA
2. 89cH- 2,5- Blg3iA
3. 89cH- 2,6- BI53A
4, gUed- 2,3- SEAH

Options :

21052950617. 1
21052950618. 2
21052950619. 3
21052950620. 4

Question Number : 106 Question Id : 21052912836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Benzoic acid reacts with nitric acid and sulphuric acid to give

1. 2-Nitrobenzoic acid
2. 3-Nitrobenzoic acid
3. 4-Nitrobenzoic acid
4, 2.4,6-Trinitrobenzoic acid

Options :

21052950621. 1
21052950622. 2
21052950623. 3
21052950624. 4

Question Number : 106 Question Id : 21052912836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Follg® A, Aed o IR o 3 & 91Y Ulafedl ad 391 911 o
1, 2-AREIAgD S

2. 3-IZE d-aIgd

3. 4-AT5C IS ~Ig®

4, 2,4,6- TIIgCld=ilgdh

Options :
21052950621. 1
21052950622. 2
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21052950623. 3
21052950624. 4

Question Number : 107 Question Id : 21052912837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not exhibit optical isomerism?

1. Tartaric acid
2. Maleic acid
3. Lactic acid
4. Alanine

Options :

21052950625. 1
21052950626. 2
21052950627. 3
21052950628. 4

Question Number : 107 Question Id : 21052912837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fgfafad o O & 91 9if® Yau 991999a] ®1 HeRid Jol $idl a7

2. Aferg®
4 Tercii-
Options :
21052950625. 1
21052950626. 2

21052950627. 3
21052950628. 4

Question Number : 108 Question Id : 21052912838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the product will be obtained in the reaction?

CH,NH;
A HNO,
L ,
i 0-5°C

Options :

21052950629. 1
21052950630. 2
21052950631. 3
21052950632. 4

Question Number : 108 Question Id : 21052912838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FofaRag fdfear & o 91 3G Ui fedr S

CHNH,
,A\ HNO-
-~/ ostc

[
\

Options :
21052950629. 1
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21052950630. 2
21052950631. 3
21052950632. 4

Question Number : 109 Question Id : 21052912839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds have least pK; value?

1. NC-CH3-CHz-NH2

2. N(C;zHs)3
3. CH3NH3
4, HO-CH3NH;

Options :

21052950633. 1
21052950634. 2
21052950635. 3
21052950636. 4

Question Number : 109 Question Id : 21052912839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fofafad & fog 9if1e &7 pk, 1 998 SH 8

T. NC-CH3 -CHz -NH3
2. N(C;zHs)3

3. CH3-NH>

4, HO-CH>NH:

Options :

21052950633. 1
21052950634. 2
21052950635. 3
21052950636. 4

Question Number : 110 Question Id : 21052912840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If the percentage of adenine in DNA is 30%, then what will be the percentage of guanine?

1. 30%
2. 20%

3. 710%
4, 60%

Options :

21052950637. 1
21052950638. 2
21052950639. 3
21052950640. 4

Question Number : 110 Question Id : 21052912840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3R SILT H TS 1 Ul 30% @, df T3 &1 Uia=id &1 grme

1. 30%
2. 20%
3. 70%
4. 60%

Options :

21052950637. 1
21052950638. 2
21052950639. 3
21052950640. 4

Question Number : 111 Question Id : 21052912841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for Raffinose.

1. It 1s 2 monosaccharnde,

2. It is a disaccharide.
3. It is a trisaccharide.
4 Protein

Options :
21052950641. 1
21052950642. 2
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21052950643. 3
21052950644. 4

Question Number : 111 Question Id : 21052912841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ytpare & fou ge! fadey &1 99 & |

1. T8 U HHAPIES &
2, U8 B B3NS ¢
3. TE TP CRUIPNIS © |
4 UidH

Options :

21052950641. 1
21052950642. 2
21052950643. 3
21052950644. 4

Question Number : 112 Question Id : 21052912842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following monomers are unsuitable for condensation polymerization?

1. Ethanoic acid and ethanol

2. Hexane-1,6-dioic acid and ethylene glycol
3. Hexane-1,6-dioic acid and ethylenediamine
4. Hydroxyacids

Options :

21052950645. 1
21052950646. 2
21052950647. 3
21052950648. 4

Question Number : 112 Question Id : 21052912842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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FafaRad tods § Y &1H 1 Y934 dgad- o (a8 30ga 87

1. TYFIE® 35 SR TeHId
2. BFHA - 1, 6 - SIgHE® A AR T WEeid
3. 8FH - 1, 6 - SRAED R AR vdEHaEsEA

Options :

21052950645. 1
21052950646. 2
21052950647. 3
21052950648. 4

Question Number : 113 Question Id : 21052912843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following has the maximum crystallinity?

1. Atactic

2. Isotactic

3. Syndiotactic

4. Syndiotactic and Atactic

Options :

21052950649. 1
21052950650. 2
21052950651. 3
21052950652. 4

Question Number : 113 Question Id : 21052912843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

afaiad § ° fogd AfYEad fesea™dl 82

1. Uclde®

2. HEgRfdes

3. fisEaclae®

4, fH3Eide® AR eided

Options :
21052950649. 1
21052950650. 2
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21052950651. 3
21052950652. 4

Question Number : 114 Question Id : 21052912844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is a secondary pollutant?

1. N2 O
2. 503
3. COz
4. PAN

Options :

21052950653. 1
21052950654. 2
21052950655. 3
21052950656. 4

Question Number : 114 Question Id : 21052912844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 3 O 1 U1 U fRdiae ueu® &2

Options :

21052950653. 1
21052950654. 2
21052950655. 3
21052950656. 4

Question Number : 115 Question Id : 21052912845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Eutrophication of lakes means

1. low in nutrients and sediments

2. high in nutrients and sediments
3. high temperature
4, less fertile

Options :

21052950657. 1
21052950658. 2
21052950659. 3
21052950660. 4

Question Number : 115 Question Id : 21052912845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oiicll & QuIvY| &1 Jdcd &

1. U9 dedl 3R dade H &9
2, UN& dedl 3R da@c H 9o
3. 3= d99H
4, FH JTS

Options :

21052950657. 1
21052950658. 2
21052950659. 3
21052950660. 4

Question Number : 116 Question Id : 21052912846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Which of the following gas is released on reaction of metal with sulphuric acid?

1. Chlorine
2. Oxygen
3. Hydrogen

4. Bromine

Options :

21052950661. 1
21052950662. 2
21052950663. 3
21052950664. 4

Question Number : 116 Question Id : 21052912846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HeRRas 3 o |1y uTg @l Srfifeear iR Fafaied o ¥ o1 9 19 Fad 82

2, Ao
3. BIgaleH
4 g

Options :

21052950661. 1
21052950662. 2
21052950663. 3
21052950664. 4

Question Number : 117 Question Id : 21052912847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following has zero dipole moment?

1. NH3
2. H>0
3. Benzene
4. NO

Options :

21052950665. 1
21052950666. 2
21052950667. 3
21052950668. 4

Question Number : 117 Question Id : 21052912847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frafafed & @ foad g fsa smeef giar &7

1. NH3
2. H:0
3. du
4 NO

Options :

21052950665. 1
21052950666. 2
21052950667. 3
21052950668. 4

Question Number : 118 Question Id : 21052912848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The amount of heat required to raise the temperature of a body through 1 °C is called its

1. Molar Heat

2. Specific Heat

3. Entropy

4. Thermal Capacity

Options :
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21052950669. 1
21052950670. 2
21052950671. 3
21052950672. 4

Question Number : 118 Question Id : 21052912848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1°C & A1 U foodi yared &1 di9uH de & AU saxae ™1 o) O & o4l dgl oldl &

2, fafF Fe
3. Tl
4, 4T &l

Options :

21052950669. 1
21052950670. 2
21052950671. 3
21052950672. 4

Question Number : 119 Question Id : 21052912849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which point defect in crystals does not alter the density of the solid?

1. Frenkel defect

2. Schottky defect

3. Interstitial defec

4, None of the above

Options :

21052950673. 1
21052950674. 2
21052950675. 3
21052950676. 4

Question Number : 119 Question Id : 21052912849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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foheecl H &I T fdg GIY 94 319 & O H URdaA el Hedl 87

1. 1 Gy

2. Siedl Gy

3, AR G

4. 370 9 Big Y Tt
Options :
21052950673. 1
21052950674. 2

21052950675. 3
21052950676. 4

Question Number : 120 Question Id : 21052912850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1000 mg of a protein is dissclved in enough water to make 100.0 mL of a solution. If this
solution has an osmotic pressure of 13.3 mm Hg at 27 °C, what is the molar mass of protein?
(R = 0.0821 L atm mol”' K and 760 mm Hg = 1 atm)

el

14,074.3 g mol
2.13,074.3 g mol
3.12,768.3 g mol
4.11,234.3 g mol’

Options :

21052950677. 1
21052950678. 2
21052950679. 3
21052950680. 4

Question Number : 120 Question Id : 21052912850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Us faagq & 100.0 mL §9H & [ Ugie Ul 7 1000 mg WEH STam oiidl ol afe 34 faag=
27.3 °C WX 13.3 mm Hg &I T UHRYI G1d ©, 1 UIEH &1 Hick Sod8H ol 87
(R = 0.0821 L atm mol"' K1 3R 760 mm Hg = 1 atm )

1.14074.3 g mol™
2.13074.3 g mol™
3.12768.3 g mol™
4,11234.3 g mol™

Options :

21052950677. 1
21052950678. 2
21052950679. 3
21052950680. 4

Question Number : 121 Question Id : 21052912851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the effect of adding a catalyst on the activation energy (Ea) of a reaction?

1. Activation energy decreases.

2. Activation energy increases.

3. Activation energy remains the same.
4. |t depends on the reaction.

Options :

21052950681. 1
21052950682. 2
21052950683. 3
21052950684. 4

Question Number : 121 Question Id : 21052912851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U ATUHY B GiHgu SHull (E,) W 3R S+ &l ol UHE 8idl 8 ?

1. BicpTur Foll ®H &1 9l &
2. HfepTuI Foil §¢ Wl 6|

3. Giepau Sell 9H Bl 8
4, g A W R Ha g
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Options :

21052950681. 1
21052950682. 2
21052950683. 3
21052950684. 4

Question Number : 122 Question Id : 21052912852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which cell is used in automaobiles and inverters?

1. Mercury Cell

2. Fuel Cell
3. Lead storage cell
4. Dry cell

Options :

21052950685. 1
21052950686. 2
21052950687. 3
21052950688. 4

Question Number : 122 Question Id : 21052912852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

JHICIAIEE 3R 3gc H [y 49 @1 J9gr fhdl ol 87

1. OR1 9

2. 3y Od

3. TS 99 4d
4, @ I
Options :
21052950685. 1
21052950686. 2

21052950687. 3
21052950688. 4

Question Number : 123 Question Id : 21052912853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following is a distinct feature of physiosorption?

1. It is caused by chemical bond formation.
2. It is highly specific in nature.

3. It is irreversible

4. None of the above

Options :

21052950689. 1
21052950690. 2
21052950691. 3
21052950692. 4

Question Number : 123 Question Id : 21052912853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

afaRad 3 O ga1 Yifds Gy &f ts Gy &emdi s 2

1, T8 AT ATEY T3 & PR Bl &l
2. g Udbid H e IR 5
3. 4g HIchHIvA §

4. 3TH A Bls HiTal

Options :

21052950689. 1
21052950690. 2
21052950691. 3
21052950692. 4

Question Number : 124 Question Id : 21052912854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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The conductance in electrolyte conductors is due to

1. Flow of free mobile electrons.
2. Movement of ions.
3. Both of the above
4, Mone of the above

Options :

21052950693. 1
21052950694. 2
21052950695. 3
21052950696. 4

Question Number : 124 Question Id : 21052912854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YIIHTIEY I H i (Y BRU BT &

1. god HiT3e sadeHl &1 Jarg|
2. Al BT I |

3. FW B G

43 TH AR W8

Options :

21052950693. 1

21052950694. 2

21052950695. 3
21052950696. 4

Question Number : 125 Question Id : 21052912855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the correct option for function of a catalyst in a chemical reaction

1. Reduces enthalpy of reaction

2. Decrease rate constant of reaction

3. Increases activation energy of reaction

4. Does not affect the equilibrium constant of reaction

Options :
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21052950697. 1
21052950698. 2
21052950699. 3
21052950700. 4

Question Number : 125 Question Id : 21052912855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s IS HUfed O Ue 3o & o/ & (a4 Uel [dmed &l 9a- P9 7

2. 3Hfiifepar & a7 RS | &6t
3. AfYfraT & ieddr Sl sgidl o
4, 3T & Iy RIS &I TFdR Yyifad el &dl &

Options :

21052950697. 1
21052950698. 2
21052950699. 3
21052950700. 4

Question Number : 126 Question Id : 21052912856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the solubility product of Pb3(PO.)s is 1.5 x 10732, then what will be the solubility in gms/litre?

1.2.92 x 107
2.494 % 10712

3. 742 % 1077
4,892 % 1073

Options :

21052950701. 1
21052950702. 2
21052950703. 3
21052950704. 4

Question Number : 126 Question Id : 21052912856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g Pbs(PO,), @I AT TUHGH 1.5 x 10328, df faagdl gms/L § F1 811 ?

1.2.92x 1077
2. 494 x 10712
3. 742 x 10%
4,892 x 1073

Options :

21052950701. 1
21052950702. 2
21052950703. 3
21052950704. 4

Question Number : 127 Question Id : 21052912857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
At the same temperature, the average molar kinetic energy of N> and CO is

1. KEn2 > KEcp
2. KEpp < KEcp
3. KEnz = KEcp
4. insufficient information given

Options :

21052950705. 1
21052950706. 2
21052950707 3
21052950708. 4

Question Number : 127 Question Id : 21052912857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U@ g dIHH T N> 3R O @1 319d Aia) a9 Foll 7l &

1. KEnz > KEco
2. KEnz2 < KEcp
3. KEnz2 = KEcp

4, AT SHHRI ol

Options :

21052950705. 1
21052950706. 2
21052950707. 3
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21052950708. 4

Question Number : 128 Question Id : 21052912858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to the Avogadro's law, what is the relation between volume of 1 kg mol of oxygen
and volume of 1 kg mol of nitrogen, at normal pressure and temperature? ( mass of 1 kg mol
of oxygen is 32 kg and mass of 1 kg mol of nitrogen is 28 kg)

1. volume of 1 kg mol of oxygen is greater than volume of 1 kg mol of nitrogen
2. volume of 1 kg mol of oxygen is less than volume of 1 kg mol of nitrogen

3. volume of 1 kg mol of oxygen is same as volume of 1 kg mol of nitrogen

4, none of the above

Options :

21052950709. 1
21052950710. 2
21052950711. 3
21052950712. 4

Question Number : 128 Question Id : 21052912858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TARIEI & 8 & 3UR, 1 kg AlG HIGHTEH B A0 AR 1 kg Hid A5ei6H & HGdd & &g
et 91 € YHE Ga1g AR dI99E U7 (1 I Hlaiie &l 5609 32 kg € 3R 1 3id Ageled
1 509 28 kg ©)

1. R F 1 kg HId @ AT TEeioM BT g H s ST
2. ARG & 1 kg HIT BT AT 5o DI gol H PABIA &
3. HIFTSH & 1 kg AT @1 HG ATgcio- & 99F aidl &

4, 390 Y iz W

Options :

21052950709. 1

21052950710. 2

21052950711. 3
21052950712. 4

Question Number : 129 Question Id : 21052912859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which statement is ‘true’ for K, the equilibrium constant of a specific reaction?

1. It may be changed by the addition of a catalyst.

2. It increases if the concentration of one of the products is increases.
3. It changes with changes in the temperature.

4. It increases if the concentration of one of the reactants is increased.

Options :

21052950713. 1
21052950714. 2
21052950715. 3
21052950716. 4

Question Number : 129 Question Id : 21052912859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafare siftiferan & W fRis '« & U ®F 1 59 981 87

1. 34 3aR® @I 3ufaid 4 s6al of G®dl g

2. T8 954l & 3R UP IdIG &1 W50 4 3fs ol o

3. 98 9199 ¥ Saaid & 9y ggadi o

4. 9% 9gdl & AR TP ATHThyd & Gizvl § dia sl o |

Options :

21052950713. 1
21052950714. 2
21052950715. 3
21052950716. 4

Question Number : 130 Question Id : 21052912860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In some solutions, the concentration of H1O™ remains constant even when small amounts of

strong acid or strong base are added to them. These solutions are known as

1. ideal solution

2. colloidal solution
3. true solution
A buffer solution

Options :

21052950717. 1
21052950718. 2
21052950719. 3
21052950720. 4

Question Number : 130 Question Id : 21052912860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

D (G H, H;0* I Yigtl FRR Il €, 5" Sicl 31 § Hogd 3 91 Hodd §RS S9H gl
STl 8| 34 [909- &1 391 @8l 9idl o

1. 3TER fqeaH
2. DI ead [aadH
3. gury faaaq

4, IHOufRIE faaas

Options :

21052950717. 1
21052950718. 2
21052950719. 3
21052950720. 4

Question Number : 131 Question Id : 21052912861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In an open system, for maximum work, the process must be entirely

1. irreversible

2. reversible

3. adiabatic

4. nane of the above

Options :

21052950721. 1
21052950722. 2
21052950723. 3
21052950724. 4

Question Number : 131 Question Id : 21052912861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9o (e o, siftmdy & & fau, Ushd o g diigd

2. JapHATOA]

3. 3E™

4, 3TH G his HiFg
Options :
21052950721. 1
21052950722. 2

21052950723. 3
21052950724. 4

Question Number : 132 Question Id : 21052912862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following drug is being used in cancer therapy?

1. Taxol

2. Azidothymidine
3. Brompheniramine
4, Meprobamate

Options :
21052950725. 1
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21052950726. 2
21052950727. 3
21052950728. 4

Question Number : 132 Question Id : 21052912862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d# g fopg gar &1 39grT fohal SrdT 87

)

L)

R Tofere | fAiefe
2. TS URHSIET
3. BT

Options :

21052950725. 1
21052950726. 2
21052950727. 3
21052950728. 4

Question Number : 133 Question Id : 21052912863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio of mass of electron to proton is

1.544 < 10
2. 544 x 10
3.1.83 x 10
4,183 x 104

Options :

21052950729. 1
21052950730. 2
21052950731. 3
21052950732. 4

Question Number : 133 Question Id : 21052912863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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g F/HIelA & SO @1 30 &

1.5.44 x 107
2.5.44 x 104
3.1.83 x 10
4183 x 10

Options :

21052950729. 1
21052950730. 2
21052950731. 3
21052950732. 4

Question Number : 134 Question Id : 21052912864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List | with List 11

List | List 11
A. lonic . NH3.BF;
B. Covalent 1. HCI

C. Hydrogen bond |lIl. LiF
D. Coordinate bond|IV. HF

Choose the correct answer from the options given below:

T.A- 11, B, C - [\,
ZA-N.B-Il,C=| D4
A= ML B=1L O - =
4 A-1ILB-LC-I,D-1IV

Options :

21052950733. 1
21052950734. 2
21052950735. 3
21052950736. 4

Question Number : 134 Question Id : 21052912864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Uferd | 7 €1 718 gl o1 Uik 11 H faT T IereRll & ury fHEH &)

UIESR ufaan

A. HTHS . NH3.BF3

B. YgOgiadm 11, HCI

C. SIESIoH AEY  |IIl. LiF

D. SUHg T MTE|IV. HF

4 fou v fawear & 4 wel SR g

T.A=-1,B=l,C-IV,D-]
ZA-NLB-ILC-1,D-IV
3A-NLB-ILC-I1V, D=
4 A-ILB-ILC-I,D-IV

Options :

21052950733. 1
21052950734.2
21052950735.3
21052950736. 4

Question Number : 135 Question Id : 21052912865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements related to the modern periodic table is incorrect?

1. The p-block has 6 columns, because a maximum of & electrons can occupy all the orbitals in
a p-shell.

2. The d-block has 8 columns, because a maximum of 8 electrons can occupy all the orbitals in
a d-subshell.

3. Each block contains a number of columns equal to the number of electrons that can occupy
that subshell.

4. The block indicates value of azimuthal guantum number (I} for the last subshell that
received electrons in building up the electronic configuration.

Options :

21052950737. 1
21052950738. 2
21052950739. 3
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21052950740. 4

Question Number : 135 Question Id : 21052912865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S 3T R ¥ Yefig Fuftiad & 9 ®F 91 &4 Tod o7

1. p-saiidh 1 6 31 Bid &, FIP ARG 6 aidc- U p-Xd B daid § 3 &hd o

2. d-=id 4 8 97 gid &, At HIDHIY 8 3cideH ¢-Ud X B H&D T H Tdhd 5

3. U &ld H SadeHl B U o SXIaR a7 6id & off 94 2d &I B&d H o gdd ol

4, 3ffqH =i §d 2d & eIl iy 9@ (1) & Hed &) sifchd Bl & ol 3cidei-id [a-ard
& fAgfur 9 SoideAf o U aedl g |

Options :

21052950737. 1
21052950738. 2
21052950739. 3
21052950740. 4

Question Number : 136 Question Id : 21052912866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List | List 1I

A. spd . BrFg

B. dsp? Il. PFs

C. sp3d? I, [PtClg)®

D. dsp? IV, [Co(NH3)3*

Choose the correct answer from the options given below:

TA=I, B=LC-I¥, D=|
ZA-NLB=ILC-|, D=1V
AL B=ILC- IV, D=
4 A-ILB-IILC-1,D-IV

Options :

21052950741. 1
21052950742. 2
21052950743. 3
21052950744. 4
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Question Number : 136 Question Id : 21052912866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T - PG -1 @ AR B

T - G -1

A. spid |. BrFs

B. dsp? II. PF5

C. spid? L. [PCLs}*

D. d?sp? IV. [Co(NH3)g]*"

rd feu e faeedl | ¥ Tet IR gHT

TA-I, B, C-1V, D-I
ZA-NLB-I,LC-1, D-IV
3A-NLB-ILC-IV, D-]
4 A-ILB-ILC-I, D-IV

Options :

21052950741. 1
21052950742. 2
21052950743. 3
21052950744. 4

Question Number : 137 Question Id : 21052912867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A:
In the given equation
Phosphorus is undergoing oxidation as well as reduction.

P, + 30H +3H,0 — PH, + 3H,PO,

Reason R:

The phosphorus of PH;z is in +3 oxidation state and it is converted to -1 oxidation state in
H>PO5.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052950745. 1
21052950746. 2
21052950747. 3
21052950748. 4

Question Number : 137 Question Id : 21052912867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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TSI HY RE U E . Uoh ol HHHYH (A) AR GI I db (R) Dl I & |
JHTHEYH (A) : AU 70 9He0 § BRERY Aol & 9y-91y 39994 Y &2 8l o

P, + 30H + 3H,0 — PH, + 3H,PO,

T (R) : PH H BIEHRE +3 HGH1g0 AT H § 3R 98 H,P0,™ H -1 HiaHmu ae |
yivafid gl J1di &

Iulad Yl & H1eie H Hgiied el H 1§ 98 I g4 :

A) 3R (R) ST 961§ 3R (R), (A) BT 9T ARG

A) 371 (R) G We1 € TR (R), (A) BT Hel AT T8l &

A) el & U (R) ¥l TR |

A) 81 81 8 U3 (R) HR1 &

Options :

21052950745. 1

21052950746. 2

21052950747. 3
21052950748. 4

1. (
>3
: %)
4. (

Question Number : 138 Question Id : 21052912868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il

List | List Il

A. Combination reactions [b.Cr,0; (s) + 2Al (s) ————= AlO; (5) = 2Cr (5)

B. Decomposition reactions|il. 2KCI10; (s) iﬁ- JKCI (s} + 30, (2)
: < . VAN : :
C. Non-metal displacement|lll. CH; (g) = 205 (g) ————= €05 () + 2H,0 (1)
. = : T : ,
D. Metal displacement V. 2Fe (5) = 3H,0 (1) ————= Fea0;(8) + 3Ha ()

Choose the correct answer from the options given below:

T.A-1I,B=,C- IV, D-]
ZA-NLB-ILC-1,D-IV

ZA-NLB=ILC- IV, D=
4A-,B-,C-1,D-V
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Options :

21052950749. 1
21052950750. 2
21052950751. 3
21052950752. 4

Question Number : 138 Question Id : 21052912868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T - PG -1 @ AR B

Eln -
A, YaieH . N
iffehan CroO5(s) - 2A1(s) ——= AlO3(s5) = 201 ()

B. 31T BT |l 2KC10; (5) i.- 2KC1 (s) + 305 (2)

C. 3Yrd fa=g Pl
g CH;(g) = 20 (g) — == CO;(=)+2H,0(])
\'
D. #7q fawurg= A
DFe(s) = 3HAO () —— = FeaO1(s) + 3H: ()

41 U 7T¢ fabed] & © Hel IR 99

T.A=-1, B, C-IV, D~
ZA-LB=ILC-1, D=V
A-NLB=ILC- 1Y, D-
4 A-1,LB-1,C-I, D-IV¥

Options :

21052950749. 1
21052950750. 2
21052950751. 3
21052950752. 4

Question Number : 139 Question Id : 21052912869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Among LiH, NaH, KH, RbH, CsH, the correct order of increasing ionic character is

1. LiH = NaH = CsH = KH>RbH

2. RbH = CsH = NaH = KH = LiH
3. LiH < NaH < KH < RbH < CsH
4 MNaH » CsH » RbH > LiH > KH

Options :

21052950753. 1
21052950754. 2
21052950755. 3
21052950756. 4

Question Number : 139 Question Id : 21052912869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LiH, NaH, KH, RbH, CsH T 3= 9ita & 95+ &1 9el 4 &l o

1. LiH > NaH > CsH > KH = RbH
2. RbH = CsH = NaH = KH = LiH
3. LiH < NaH < KH< RbH = GsH
4 MNaH » CsH » RbH > LiH > KH

Options :

21052950753. 1
21052950754. 2
21052950755. 3
21052950756. 4

Question Number : 140 Question Id : 21052912870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Page - 145


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

Match List | with List 11

List | List 11

A. Hy and O3 . used in the name of perhydrol

B. D;O Il. can be used in cutting and welding
C. Ho0» Ill. atomic reactor

D.H V. produced from electrolysis of water

Choose the correct answer from the options given below:

TAA= ), B=l, <= IV, D=|
ZA-IV,B-1,C-1, D=1l
3A-IV,B-IILC-II,D-|
4 A-1ILB-ILC-I,D-1IV

Options :

21052950757. 1
21052950758. 2
21052950759. 3
21052950760. 4

Question Number : 140 Question Id : 21052912870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt -1 @ gl -1 I gafad sifeu

T | T -1

AH, IRO; . UREIZSIA o 919 U IUGIT T oirdl &

B. D50 11, @Ted 8k dfeen  seadra fodr o G&dl &
C. H,0 111, TIHI] Uy

D.H Iv. O & dydafuged 9 Iafed

i feu e fgeedl o © Tel IR g

TA-ILB-,C-IV, D-I
ZA-INEB-LC-], D=1
FA-IVB-1IlLC-1, D~]
4 A-ILB-I,C-I, D-IV

Options :

21052950757. 1
21052950758. 2
21052950759. 3
21052950760. 4
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Question Number : 141 Question Id : 21052912871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following metal halides is soluble?

5

1. BeCls
2. MgCls
3. CaCly
4, 5rCl5

Options :

21052950761. 1
21052950762. 2
21052950763. 3
21052950764. 4

Question Number : 141 Question Id : 21052912871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frafaied 7 9 & 1 u1g 8018 ga-=ia e ?

1. BeCl>
2. MgCls
3. CaClp
4, 5rCl5

Options :

21052950761. 1
21052950762. 2
21052950763. 3
21052950764. 4

Question Number : 142 Question Id : 21052912872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 11

List | List Il

A. Na . Brick Red
B.Cs 1. Yellow
C.Ca I1I. Blue
D.K V. Lilac

Choose the correct answer from the options given below:

TA=I, B=l,C- IV, D=|
ZA-IV,B-1,C-1, D=1
3A-IV,B-IILC-I,D-|
4 A-1ILB-ILC-I,D-IV

Options :

21052950765. 1
21052950766. 2
21052950767. 3
21052950768. 4

e

GETITON

Google Play |

Question Number : 142 Question Id : 21052912872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl -1 ol Tal -1l Y gHfed Hifee ;

Il | Ol -1

A. Na g Sl ard
B. Cs 11, e

CCs 1. e

D.K . ST aPI
9 feu e faeedl # € WEl IR 9T :

T.A-1, B=l,C- IV, D~
ZA-IV,EB-1l,C-1, D-]
3A-IV,B-1I,LC-II, D-

4 A-ILB-ILC-I, D-IV

Options :

21052950765. 1
21052950766. 2
21052950767. 3
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21052950768. 4

Question Number : 143 Question Id : 21052912873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Schottky defect is observed in crystals when

1. Some cations move from their lattice site to interstitial sites.

2. Equal number of cations and anions are missing from the |attice.
3. Some lattice sites are occupied by electrons,

4. Some impurity is present in the lattice.

Options :

21052950769. 1
21052950770. 2
21052950771. 3
21052950772. 4

Question Number : 143 Question Id : 21052912873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1. B8 Y19 4G S0® gae 4 AquaEl dEey W od 8
2. Scid ¥ GHH Y SR FUTEH B 9= hE gl

3. P oS Yi3c] UL seiaei-| gRI deell Y ol |

4, I 8 $3 AYGdl Hee e

Options :

21052950769. 1
21052950770. 2
21052950771. 3
21052950772. 4

Question Number : 144 Question Id : 21052912874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Which of the following statements is incorrect?

1. A depressant prevents certain type of particles to come to the froth.

2. Copper matte contains Cu>S and FeS.

3. The solidified copper obtained from reverberatory furnace has blistered appearance due to
evolution of SO; during the extraction.

4. Zinc can be extracted by self-reduction.

Options :

21052950773. 1
21052950774. 2
21052950775. 3
21052950776. 4

Question Number : 144 Question Id : 21052912874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fFafafag d 4 o W $yF Tad g7

1. Uh 4G $S PR & &Y &l 1 541 I el 6|

2, BIR AT H CusS AR FeSBId B

3. QRIGaRAT HET ¥ U 31 e Bhial oidl [GETg adl & Fiid FSpyu & §RF SO, &1 Hard
BHTEI

4, i@ W-399a 4 M@ o1 &ar el

Options :

21052950773. 1
21052950774. 2
21052950775. 3
21052950776. 4

Question Number : 145 Question Id : 21052912875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Extraction of chlorine from brine occur when

1. AGy for the overall reaction is negative and Ey for overall reaction has negative value.
2. AGy for the overall reaction is positive and Ey for overall reaction has negative value.
3. AGy for the overall reaction is positive and Ey for overall reaction has positive value.

4. AGy for the overall reaction is negative and Ey for overall reaction has positive value,
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Options :

21052950777. 1
21052950778. 2
21052950779. 3
21052950780. 4

Question Number : 145 Question Id : 21052912875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AU o (815) U daRH ol ey de edar g

1, 999 AU & 7T AG, BUTES & IR 999 AYiHT & [T e, F1 TPRES 9- 6

2. Ty HTHIHET & [ AG, THRIES © HIX GHY HHHAT & [0 £, BT FoRED - ¢ |
3. 987 AUl & [T AGy TP & AR I099 AYfear & oY £, T 9BRIE® 91 &
4, qaY AU & 78 AG, TPRIED & 3R 999 AU & [0 £, & 96RES 94 6l

Options :

21052950777. 1
21052950778. 2
21052950779. 3
21052950780. 4

Question Number : 146 Question Id : 21052912876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the preparation of compounds of Xe, Bartlett had taken O2"PtFg as a base compound due

to

1. Both O3 and Xe have same size.

2. Both O; and Xe have same electron gain enthalpy.

3. Both Xe and O; are gases.

4. Both O; and Xe have almost same ionisation enthalpy.

Options :

21052950781. 1
21052950782. 2
21052950783. 3
21052950784. 4

Question Number : 146 Question Id : 21052912876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Xe @ HIRTe[ Bl &1 o (o, IRTIE 4 0, PtFe I YR & &4 H o o1 Fifds

1. GHI 05 3% Xe BT 3HR THH £

2. G 03 3R Xe § Y9 SaiaH Ay TUdl B |
3. Gl Xe 3R 0, T &

4, GHI 05 3R Xe § OTHI U o 199 TU 6

Options :

21052950781. 1
21052950782. 2
21052950783. 3
21052950784. 4

Question Number : 147 Question Id : 21052912877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a pyrophosphoric acid molecule, how many single and double bonds are present?

1. 3 double bonds; 9 single bonds

2. 2 double bonds; 6 single bonds

3. 2 double bonds; 12 single bonds

4. Zero double bonds; 12 single bonds

Options :

21052950785. 1
21052950786. 2
21052950787. 3
21052950788. 4

Question Number : 147 Question Id : 21052912877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% UIRIBIEh N 3 T H, fooa- Udd SR fgd ey di9g 87

1. 3 fg® 3194 o Tdhd 3§y
2. 2 TG 2M1HY: 6 Udhd &Y
3. 2 TG 2MEY: 12 Udhel HEY
4, T4 T 34 12 Uhd A6y
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Options :

21052950785. 1
21052950786. 2
21052950787. 3
21052950788. 4

Question Number : 148 Question Id : 21052912878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for SO; gas?

1. It acts as bleaching agent in moist conditions.

2. It has non-linear geometry.

3. It's dilute solution is used as disinfectant.

4. |t can be prepared by the reaction of dilute HS04 with metal sulphide.

Options :

21052950789. 1
21052950790. 2
21052950791. 3
21052950792. 4

Question Number : 148 Question Id : 21052912878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fgfafed § € ©F 91 $Y= Tdd & 50; 79 & [Aw

1. 78 99 fRufaaf § faieq oofe & w0 3 &1 oear el

2. 3% U H TR-IWG WG 5 |

3. 3@ ool [aag DIeNFERS & &4 H SUGHT fadl Siidl o

4 g UIq ehlss & Y SHTYE H,50,4 B Sififehar § dgR foodr off Idbdi 3 |

Options :

21052950789. 1
21052950790. 2
21052950791. 3
21052950792. 4

Question Number : 149 Question Id : 21052912879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following statement is true?

1. Interaction between particles of noble gases is due to weak dispersion forces.
2. lonisation enthalpy of molecular oxygen is very close to that of krypton.

3. Hydrolysis of XeFs is a redox reaction.

4. Xenon fluorides are not reactive.

Options :

21052950793. 1
21052950794. 2
21052950795. 3
21052950796. 4

Question Number : 149 Question Id : 21052912879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FEfafea ¥ o W HYF 9 &

TWﬁmﬁ e o § R Eﬁ?ﬁqumaE[FWga;ﬁ%l
2. HOTfde AR B TG Tl 3P & dgd Pla o

3. XeFs @110 HYYEH U YSI WA g

4. T TS affmarelia et 2|

Options :

21052950793. 1
21052950794. 2
21052950795. 3
21052950796. 4

Question Number : 150 Question Id : 21052912880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Zirconium belongs to 4d transition series and Hafnium to 5d transition series but still they

shows similar physical and chemical properties because

1. both belong to d-block.

2. both have same number of electrons.

3. both have similar atomic radius.

4. both belong to the same group of the periodic table.

Options :

21052950797. 1
21052950798. 2
21052950799. 3
21052950800. 4

Question Number : 150 Question Id : 21052912880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SRBI-EY 4d YHT0 @d AR eBH0H 54 UHHT §Ea & Hdild Hdl & i alFl ga[
Hifdd 2R TERHS U feard § T ifd

1. GHI d-=i® & el & |

2. G H goigeiql & 4 §5H B

3. GH1 & TR T9H &

4 g 31ad gRuli & U &) 9 U defud g

Options :

21052950797. 1
21052950798. 2
21052950799. 3
21052950800. 4
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